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Question id : 3899 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Assertion (A) : To obtain high switching speed in BJT based logic circuits, transistors are operated in active
region.

Reason (R): In active region transistor works as a linear element.
Options:
| ® Both A and R are frue and R is the correct explanation of A
. 3 Both AandR are true but R is NOT the correct explanation of A
&, Als true but R is false

5 Aldsfalse but R is true

I

Question id : 3899 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

%o+ (Assertion (A) :

BIT 7% wa af¥9er (logic circuits) 7 &0 fgas 7w (switching speed) g &3= & & giiawes & 996
(operation) WiHT &= (active region) ¥ T&T T

wwor (Reason (R):

wirg &= (active region) # gy % s swow (linear element) Ft 578 &0 &9a7 §)

Options:

T A @ R w0 ¢ o R, A 71 w81 ==Fo9 #1 (Both A and R are true and R is the correct explanation of A)
1 *®



=M1 A ot R ¥ € 9w R, A = w81 wdi@em =8 £ (Both A and R are true but R is NOT the correct explanation
, % of A)

A v t w3 R == ©| (Alis true but Ris false)

L

L w A w7 © 7o R @ £ (Ais false but R is true)

Question id : 3900 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Assertion (A): A monostable multivibrator can be used to alter the pulse width of a repedtitive pulse train

Reason (R): Monostable multivibrator has a single stable state of A
Options:
| % Both A and R are true and R is the correct explanation of A

. « DBothAand R are frue but R is NOT the correct explanation of A

. g Aldstrue but Ris false

4 % Als false but R is true

Question id : 3900 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

w1 (Assertion (A):

T TerEE agso (monostable multivibrator) #1 =g gaeEdl w0= £ (repeatition pulse train) #1 &7 =@12E
(pulse width) 75 = fa fvmr wmem 2

ww (Reason (R):

frrffs agoad @ oae U@ v #ufE (stable state) ®

Options:

| % ==t A oiw R W € oite R, A & = w=taww ¢ (Both A and R are true and R is the correct explanation of A)

AT A o R wew & wwg R, A &1 W wEaw 781 © | (Both A and R are true but R is NOT the correct explanation
4 of .Iﬂ\]

, A vt oy R ow ©) (Als true but R is false)

. A EEm ¢ weeg R wel T (Ads false but Ris true)

Question id : 3901 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
A class-B push-pull type amplifier with transformer coupled load uses two transistors rated 10 W each. What
is the maximum power output one can obtain at the load from this circuit?

Options:

| 46 W

5 D9W

L2

VY S0W
% 146 W

[N ]

=

Question id : 3901 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
7% = B gugw gmw mard (push-pull type amplifier) faw% zraw= == zimew (transformer coupled) =1 W=
(load) & 2 wifEwes &1 99FT F9ar © fFa@ S 10 W 558 T
% Ty ® afiees afed AT (maximum power output) fEEeT T T




Options:
| % 46 W

% 59W

=

3. ¢ S0W
. % 146 W

Question id : 3902 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Consider the fellowing statements:

A clamper circuit

1. adds or subtracts a dc voltage to or from a waveform.
2. does not change the shape of the waveform.

3. amplifies the waveform.

Which of the statements given above are correct?

Options:
| 1and2
~ o Zand3

3 ® 1and 3

, % 1.2and3

Question id : 3902 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

7w @em a9 (clamper circuit)

1. 7= 797 w9 (waveform) 7 d.c. Ire=a Fear @ @er ©1 (adds or subtracts a dec voltage to or from a
waveform.)

2. w9 w9 w74 95w | (does not change the shape of the waveform.)

3. 79 w9 ®f wged wear o1 (amplifies the waveform.)

Options:
|« land?2

. % 2and3
; % land3
% 1,2and3

Question id : 3903 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

What will be the effect on bandwidth, if the & of a single-stage single-tuned amplifier is doubled?
remain same

Options:
g remain same

—_

,  become half

. w  become double



4 ® become four times

Question id : 3903 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

o Tew =9 T gaae (single-stage single-tuned amplifier) v=iw &1 QL 51 T 77 B9 9w ot 98 99
(bandwidth) == =7 a/9= o 7

Options:

% 3% dans 761 (remain same)

. S T W (become half)

=1 7= = weAr (become double)

w®

L

T T T T (become four times)

Question id : 3904 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The output offset voltage of a single-stage differential amplifier depends on which of the following?
(Vee = base-emitter voltage, Is = base current and Beta = gain factor)

Options:
| % Mismatch of Vaz |, Iz and Beta

4

% Mismatch of Vaz and Ig

3 Mismatch of Iz and Beta

4% Mismatch of Vaz and Beta

Question id : 3904 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
tmn =v fTEd gmiE (single-stage differential amplifier) #1 ffs sfiwse diezar (output offset voltage) &= # =

fFe o e sl £ °
(Vpe = omeme w=rds diceat (base-emitter voltage), 1 = e #m=1 (base current) and Beta = 3% o5 (gain factor)
Options:

% Ve, |z 27 Beta =7 ®Fa= (Mismatch of Vg, |5 and Beta)

o« Vee 3 lg @1 g5 (Mismatch of Ve and 1)
ok @~ Beta &7 FAe (Mismatch of I; and Beta)
. % Ve 2R Beta o7 Ao (Mismatch of V;: and Beta)

Question id : 3905 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The pinch-off voltage V = +6 V for a P-channel JFET. If Vge= + 2 V, what is the value of Vips at which it will
enter into saturation region?

Options:
| ® -V
a1 w _41I'.lIII

(RN ]

<
+
oo
=



4 % +4V

Question id : 3905 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

P === IFET &7 wg== areear (pinch-off voltage) V=+6 21 T2 Vge=+ 2V T T Vs & To dieear w2 on Hgfd 530
(saturation region) ¥ Ty = 7

Options:

5 ‘&,,+8V

w +H4V

I

Question id : 3906 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
The voltage gain versus frequency curve of an Op-Amp is shown in the given figure
voltage 1
galn
B0 dB |

+ 20 dB/decade

r

B 4 o
¢e 20 Hz frequency

The gain-bandwidth product of the Op-Amp is
Options:
| % 200Hz

. % 200 MHz

=

' 200kHz

Lsd

® 2MHz

=

Question id : 3906 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Op-Amp &1 dicear @ifer,/2mafa 9% o1 731 §
vﬂluﬂcT
gain
BO dB

+ 20 dB3/decade

L L

0 dB

:
=
3
:

Afe—dg == (gain-bandwidth) o= s s/
Options:
4200 Hz

| % 200 MHz

=



;200 kHz
,  2MHz

Question id : 3907 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The voltage gains of an amplifier without feedback and with negative feedback respectively are 100 and 20.
The percentage of negative feedback (Beta) would be

Options:

S x 5%

&

;% 20%

% B80%

Question id : 3907 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
TE Vg @1 acedl wiad 9 wees (without feedback) @ e TmiReT (negative feedback) w w100 a9
208
Tom=E [A=on (negative feedback) Beta % witma e = 7

Options:
1.« 4%

1 % %
; » 20%
. 80%

Question id : 3908 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Vivhat is the phase shift between the input and output voltage in a common-base small signal amplifier .
(assuming ideal coupling and bypass capacitors)?

Options:
| % 180 degrees

&  -180 degrees

« 0Odegree

L

. % 360 degrees

Question id : 3908 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
FHT AR FgEen qods (common-base small signal amplifier) 1 m—rf= ae=an (input and output voltage) &
dra wmen fawemes (phase shift) f&er s 7
[ord = (ideal coupling) 2 wrad et e (bypass capacitors) =19 #fifag]

Options:
| % 180 degrees

. -180 degrees



1 0 degree

4 % 360 degrees

Question id : 3909 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Consider the following digital circuits:

1. Multiplexers

2. Read Only Memories

3. D-latch

4. Circuit as shown in figure below
Input

iiiianians g Output

Which of these come under the class of combinational circuits?
Options:
| 1and?2

1 % Jand 4
3 ® 1,2and 3

# 1,2, 3and4

=

Question id : 3909 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
ey afeta uRuyl W faaw Fifsr
1. ag "aas (Multiplexers)
2. %aw wg7 qar (Read Only Memories)
3. D-zr= (D-latch)
4. == uRuz (Circuit as shown in figure below)

:’Iﬂl

Ovtput

=79 ¥ @ wggw g9l (combinational circuits) © 7
Options:
. land?2

. = 3and 4
% 1,2 and3

% 1,2,3and 4



Question id : 3910 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
How many states are unused in a 4-bit Johnson counter?

Options:
| w2
2 % 4
3 8
R

Question id : 3910 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

4 faz (bit) Johnson counter ¥ fio-T J@®=Mv (states) 9T H H‘ﬁi‘(unused) ﬁ?ﬁ' g ?
Options:

L% 2
1_%4

.&?8

L

-

Question id : 3911 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Assertion (A): The speed-power product is an important parameter for comparing various TTL series.
Reason (R): A low value of speed-power product indicates that a propagation delay can be achieved
without excessive power dissipation and vice-versa.

Options:

| Both A and R are individually true and R is the correct explanation of A

5 Both A and R are individually frue but R is not the correct explanation of A

3 ® A s true but R is false

4 % A is false but R is true

Question id : 3911 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
wer Assertion [A):
MH—Taa & o W TTL Al &1 g0 &9 & (o smwms 7w £1 (The speed-power product is an important
parameter for comparing various series. |
Fo Reasen (R):
aR-ofim e o = S TeEn © f vee e B ot wiess @ o e we of s 1 (A low value of
speed-power product indicates that a propagation delay can be achisved without excessive power dissipation
and vice-versa.)

Options:

=FT A @ R =91 € 9= R 91 A = =8 ®iee (explanation) £ (Both A and R are individually true and R is the
|« correct explanation of A)

=M1 A 4T R 781 € 99 R 91 A &1 581 == 7 == £ | (Both A and R are individually true but R is not the correct
1 % explanation of A)



, A ¥ty R o T (Als true but Ris false)
J.

A @ © =g R w98 © | (Ais false but R is true)

Question id : 3912 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A 1 ms pulse can be converted into a 10 ms pulse by using which one of the following?
Options:
| % An astable multivibrator

o A monostable multivibrator

. g A Dbistable multivibrator
J.

, % AJKfip-fiop

Question id : 3912 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

1 7 e e &% 1 ms ©E (pulse) &1 10 ms ¥ 3w o s waa & ¢
Options:
| % TP T o ggaiua (An astable multivibrator)

. 7P Rerft® sgafid (A monostable multivibrator)
;% 9F Eafers agoiua (A bistable multivibrator)
. @ K foerg wain (A JK flip-flop)

Question id : 3913 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
In order to build a 3 bit simultaneous AD converter, what is the number of comparator circuits required?

Options:

1. 7
~® B
I
4 % 16

Question id : 3913 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
3 fie & Ww—a (simultaneous) A/D oftgds o & fom fiFes g@f3 (comparator) oioef &1 amomsar erft ?

Options:
1.« 7

% O
% 15

L« 16

L



Question id : 3914 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
(734)s=(? h1s

Options:
| % cC1D

, » DCI1

. 1CD

-
3.

4 o 1DC

Question id : 3914 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
{?3415 — { ? ]16
Options:

% C1D
. DC1

4.

% 1CD
1DC
o

L

Question id : 3915 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
De Morgan's first theorem depicts the equivalence of

Options:

| ® OR gate and Exclusive OR. gate

" MOR gate and Bubbled AND gate

=

3 ® NOR gate and NAND gate

NAND gate and NOT gate

Question id : 3915 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
De Morgan's &1 o9 w127 f5H® geuar (equivalence) weftg &war © 7

Options:
A 7ie g uss AT e (OR gate and Exclusive OR gate)

o T e 79 =4 == 71 (NOR gate and Bubbled AND gate)
, x FTTTD 7T 79 @amqes e (NOR gate and NAND gate)

., T2TEE e ¥ 7w e (NAND gate and NOT gate)

Question id : 3916 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which among the following is the decimal equivalent of hex number 1TA337

Options:



. 6793
. 6739

4 6973

, % 6379

Question id : 3916 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

7 4 % &7 hex = 1 A5 3 %1 gwHed™ d20 (decimal equivalent) © 7
Options:
| % 6793

v 6739
% 6973
4 6379

-2

L

Question id : 3917 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
The number of flip-flops required for mod-16 counter are:

Options:

% 9
n B 6
;3% 3
4 & 2

Question id : 3917 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

mod-16 7%= (mod-16 counter) & &g e fieg waw (flip-flops) smasr= © 7

Options:
1 % o
~ B 6
;% 3
4ot

Question id : 3918 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
In case of a s bit A/D converter having mazammun precision supply voltage of 40 V, what does voltage 100110 represent”?

Options:
| ® 20.50 volts

, % 2250volts



iR 4 23.75 volis

4 % 2495volts

Question id : 3918 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
6 fag A/D uftedi®w faesh sifoes oftgfz oo oeew (maximum precision supply voltage) 4oV E,

A= 100110 T4T Ferardr 2 7
Options:
| % 20.50volts

- 22.50 volts

5 o 23.75 volts

24.95 volts
4 k"

Question id : 3919 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
For a control system, the Laplace transform of error et) is given as [8(s+3) / s(s+10)]. What would be the steady state value of
the error?

Options:
| ® 3.6

R, 1.8
w® 3.2

-
3.

4 24

Question id : 3919 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
T I g9 § ererE e Te eft) = [8(s+3) / s(s +10)] £

Ife @ wrl wawen g (steady state error) &1 A9 F4T TAI 7

Options:
1 3.6

'-_ﬁ 18
% 32

(W]

, v 2.4

Question id : 3920 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



H2

Determine the transfer function of the SYSTE'H"I shown above.
Options:
| % [Gy G2 Ga] / [4 + G2 Gs Hy + Gy Gz H]

. 5 [G1G2Ga]/[3+ GaGs Hy + Gy Gz Hy

% [G1G2G3]/[2+G2Gs Hi + Gi Gz Hz)

L

¢ [G1G2Gal/[1+G2GaHi+G1GaHy

Question id : 3920 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

H2

fay v 93 &1 o Rd wew (transfer function) @1 =97 7
Options:
| % [G,G,G;]/[4+G,G;H, + G, G, H,y]

) % [G1 G, Gs] / [3+G; Gs Hy + Gy Gy Hy
_w[516263]:“[2+GQGSH1+6152 H,]
, Jlﬁlﬁzﬁa]!‘[lJszGsH1+6152H2]

(W]

Question id : 3921 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Transfer function of the given network would be

Ry Ry

Options:

2
1 ¥ sl/fs LR1C+5[L+R1R2C]+ R, +R,



. 5 S'LRIC4+S[L+R4R:CH R{Ra/L

% S'LR4C-S[L+R:R:CJ+ RiR:

[R]

% S LRiCHS[L+R1R2CJ+ Ry

Question id : 3921 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
R ssmasen s v e °?

R, R,
r VWWA- WW ° l
v; e L vﬂ
I, R
Options:

2

1.« sl/s LR, C+s[L+R,R,C]+ R, +R,
. S LR CHs[L+R,R,CJ+ RyR,/L

| x s’LR,C-s[L+R,R,C]+ R4R,

.. 5 LR, C+s[L+R,R,C]+ R,

Question id : 3922 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A system with transfer function 1/(sT + 1) is subjected to a step input and it takes 10 secs to reach 50% of
the step height, find T.

Options:
1 ® 69s

~ 8 105

E 4 1445

4 % 205

Question id : 3922 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

TF o9 T ded wea sT+1l) s vsom fan S T g1 s Ama S 0% I e S fm w SFs o &
T &1 719 @41 §01 7

Options:

| ® 6.95s

ﬁwlﬂs

, v 1445
® 205



Question id : 3923 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

What is the damping ratioofa SFSTEFE'H with characteristic equaticn: 52 +25+8=07
Options:
| 0.353

~n B 044

. 0678

L

4 % 0.119

Question id : 3923 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
sfeeneTors W (characteristic equation) s° + 2s + 8 = 0 %7 sraw== (damping ratio) =¥ T & 7

Options:

| 0.353

0.44
" %

, % 0678
, x 0119

Question id : 3924 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Identify the correct phase plot (approx) for H(S) = (S+1000){{s+10)").
Options:
A&
0

| :

o
i

0° 1 10 100 1000 10000

-90°

-180°




a0°

i}
1 10 10 104000
I R

3 %
&
180% ----=-mmm e :
gug _______ I: : L]
o : E E 0]
0 P ! ; &,
. % 10 1000 10000

Question id : 3924 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
H(S) = (5+1000)/{(s+10)*} = = === (phase plot) == =1 £ °

Options:

P\

e R, (..

i | | |8
o

0° 1 10 100 1000 10000

]

__________

t -
1 10 108Q 10000
17 i SRR S : -



{B0% === === ,
BD% = :‘ :
I l ‘6
1) Pl S : e
10 1000 10000

Question id : 3925 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

If the pole-zero location is as shown in figure, then time response will be

o

4
o
p- | %,
| »
Options:
1 ® T
v B t

4.

Question id : 3925 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

g ga 77 T (pole-zero location) 73 % @8R © A1 F19 AT (time response) 77 5 | &9 2mm ?
»

5—|:lm||.=|Jll

| x

Options:



t
2 ®
3 % :
_ ”ﬂw?\ :
1Y t
4. ¢

Question id : 3926 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The transfer function of a certain system is given by G(s) = s/(1+s). Which of the following is the Nyquist
plot for the system?

Options:
Im
1 ®
I"'."
TN
2. ¥
Im & .
W=
¥ He
3 0% o




Question id : 3926 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Tm TA @ ames o (transfer function) Gis) = s/(14s) £1 &= # 9 =3 =7 =Efdoee amer (Nyquist plot) &= £ 7
Options:
Im
= m\‘ ‘/{'} =0
Re
1 ®
Im
o = "j\‘ N =e=
» Ra
19
Im &
w=0
I'd
Re
T
i) = oo
3 %

Question id : 3927 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Determine the damping ratio and natural frequency for a second order control system defined by the
following differential equation.

d cit) acit)
4 : - H & 'l'_'. :rj' = ]'_. l_ll..‘_l
1t Ot
Options:
| ® 0.25 and 2 rad’s

R 0.50 and 2 rad's
3 ® 0.25 and 4 rad's

% 0.50and 4 rad/s

Question id : 3927 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



&= amwa wieew (differential equation) s ofsfts fFfma= FMoss 73 (second order control system) =1 sm===
w7 (damping ratio) 3T =mEs o (natural frequency) 1 T 7

(1) dce(t)
4—20 L 820 L 16e(t) = 16u(t)
ol il
Options:

% 0.25and 2 rad/s

, « 0.50and 2 rad/s

% 0.25and 4 rad/s

(]

0.50 and 4 rad/s
%

Question id : 3928 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Consider the Nyquist plot of a servo systern shown in the following figure. What would be the root loci for the system?
I

T * Fa
Incraasing
m (‘

Options:
|
0

1 #®

ji

G
2.
jm
double pole
3

atorigin

®

L

® Root loci diagram of the system cannot be drawn

Question id : 3928 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

HafeT (servo system) @7 AEMae 2etw@d (Nyquist plot) B & ff=r @ ©) @ &7 o g w1 (root loci)
4T EAT 7

T * Fa
Incraaging
m (‘

Options:




2.9

double pole
atorigin

]

L

o= %1 fa9g 9 =61 99737 A1 daar (Root loci diagram of the system cannot be drawn)
4. ®

Question id : 3929 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The characteristic equation of a feedback control system is given by s* + 55° + (K + 6)s + K = 0. In the root
loci diagram, what are the coordinates of point in the s-plane where the asymptotes of the root loci for large
'K' meet?

Options:
| ® (2, 0}

) % {-1,0)
3 (-2,0)
g % 30
Question id : 3929 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
uF Tt frEs 72 (feedback control system) 7 afaensfie @I € [0+ 55° + (K +6)s + K= 0]

T fag ow 2= (root loci diagram) # s == 3 &t 92t g ow fas # oftes 'K womd Toedt (asymptotes) & fred 2,
7 Faw® (coordinates) Tm T 7

Options:

1 *® 2:0)

5 {-1, U}

3 o {'21 D}

':‘3,« D:.
4 #

Question id : 3930 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The open loop transfer function of a unity feedback system is given by Kis(s+1). If the value of gain K is
such that the system is critically damped, then where will the closed loop poles of the system lie?

Options:
| « -05and-05

. x  X05

% 0Oand-1

L

, % 05%05

Question id : 3930 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



TE TR AT w9 91 Gen 919 @ FeF (open loop transfer function) R T Kfs(s+l) s e K wm s T T
fr @9 wifew wwAtes (critically damped) £, 73 93 7w 97w (closed loop poles) wor smfter o= 7

Options:
-0.5 and -0.5
v

+.
“ =j0.5

- 0 and -1

, x05%j05

Question id : 3931 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Which of the following correctly represents the maximum phase shift provided by a phase lag compensator
which has transfer function as (1 + Ts)/(1 + aTs)?
(wherea=1andT=0)

Options:

of o <

(k]

el

Question id : 3931 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

w U woenea (phase lag compensator) &1 dafis wem (transfer function) (1 + Ts)/(1 + aTs) £
= 4 9 o sfteos oa e (phase shift) soems & off a> 1R T>08 7

Options:
da+
lal —
1 ® o
(a1
P »
) ® -
iy &+
| i
;% a-
[k
Sin |
1)
4. =

Question id : 3932 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



What would be the transfer function for a linear time invariant system (initially at rest) which when subjected
to a unit step input gives response as c(t) = te* (t=0)?

Options:
| o slsH1Y

L ow M(s+1)

&

3 % 1/s(5+1)
¢W1HWH2
Question id : 3932 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

I wrE e F2 (oEw H fiem o2) (linear time invariant system (initially at rest) &1 s37% w== 7o g © 072
TEE W SAT AT (unit step input response) cft) = te” (t=20) £

Options:
| o S/(s+1)

L % 1/(s+1)}

e 1/s(s#)

4w Us(s+l)’

Question id : 3933 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Determine the characteristic equation for the system matrix of a discrete system given below.

.
A =
3 5

Options:

| % Z+z+2=0

2 Z+52+3=0
;3 % Z-32-5=0

4 B Z+32+5=0

Question id : 3933 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

#rer fgv v ardea aen @9 (matrix of a discrete system) @& sifdenafore W@ @ o Y
=

()

3 -5

A =

Options:

| w +2+2=0

v 7 +52+3=0

]

% 7°-32-5=0

[N ]

_sz+3z+5=0

I



Question id : 3934 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A small concentration of minority carriers is injected into a homogeneous semiconductor crystal at one
point. An electric field of 10 Viem is applied across the crystal and this moves the minority carriers at a
distance by 1 cm in 20 micro sec. Mobility (in cm®/volt sec) is -

Options:
1 % 2000

.« 5000
s % 1000

4 R 20000

Question id : 3934 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

TE FAT aeETes few (homogeneous semiconductor crystal) 7 T fig o oo Wi ol sy o (small
concentration of minority carriers) 7w (injected) &7 == £
freee & =M1 B (across) 9 10 Vem &7 g &= amar o & 59w o oms 20 9w 99 5 1om sod £
iz (Mobility) (em®/volt.sec) # faet it 7

Options:

| % 2000

| 5000

- 1000

50000
4 ®

(W]

Question id : 3935 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Consider the following statements about conditions that make a metal semiconductor contact rectifying:

1. N type semiconductor with its work function greater than the work function of the metal
2. N type semiconductor with its work function smaller than the work function of the metal
3. P type semiconductor with its work function greater than the work function of the metal
4. P type semiconductor with its work function smaller than the work function of the metal

Options:
| % Statement 2 and 4 are comect

. % Statement 1 and 4 are correct
2 o Statement 1 and 3 are correct
a.

% Statement 2 and 3 are correct

I

Question id : 3935 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



7= 3§ 9= W Fys w0 ¢ fAee I 1F g aeees (metal semiconductor) =T (rectifying) o w1

L. N =9 wdeners &1 HEweE, Uy & eiwes | Ads £ (N type semiconductor with its wark function greater
than the work function of the metal)

II. N 2120 e & SweE, a7 & s | #49 ¢4 (N type semiconductor with its wark function smaller than
the work function of the metal)

II. P =9 o= &1 Sawem, & & $0we | Afew T 1 (P type semiconducter with its work function greater
than the work function of the metal)

IV. P =157 oo @ SEwe, uig & ®ewes ¥ 39 1 [P type semiconductor with its work function smaller
than the work function of the metal)

Options:
LTI dm IV w= T (Statement 2 and 4 are correct)

L P v IV &= © | (Statement 1 and 4 are correct)

@ T | 2w Il @ © | (Statement 1 and 3 are correct)
a.

L Tl am |l wem ¢ | (Statement 2 and 3 are correct)

Question id : 3936 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Compared to Si, GaAs has

1. Higher optoelectronic conversion efficiency

2. Easier to grow crystals since the vapour pressure of arsenic is high
3. Poorer crystal quality since stoichiometric growth is difficult

4. Higher signal speed since electron mobility is higher

Options:
| % Statement 2 and 4 are comect

2 o Statement 1 and 2 are correct

3 % Statement 1 and 3 are comrect

% Statement 2 and 3 are cormrect

Question id : 3936 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Si #t ger % GaAs
L. worer seiEgiae weogs sEm wfwe T (Higher optoelectronic conversion efficiency)
11. e weo= @0 UTEF © 90 6 aeiee = o 599 it £ (Easier to grow crystals since the vapour
pressure of arsenic is high)
1. fFv=m =51 ToTae B9 T w0is 2fed s 920 w29 £ (Poorer crystal quality since stoichiometric growth
is difficult)
IV. wiferss g s =0ifes Zerggs Todem #ias £ (Higher signal speed since electron mobility is higher)

Options:

He |l 3w IV 7w © | (Statement 2 and 4 are correct)
w2 | 3w || 9= ©1 (Statement 1 and 2 are correct)

mo | o |l w7z ¢ (Statement 1 and 3 are correct)

L
®

w2 |l o Il ¥em T (Statement 2 and 3 are correct)



Question id : 3937 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Measurement of Hall coefficient in a semiconductor provides information on the

Options:
1 s =ign and mass of charge carriers

- % Mass and concentration of charge carriers
3 % Sign of charge carrier alone

v Sign and concentration of charge carries

Question id : 3937 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
seramerd A Hall oma (Hall coefficient) frw w9u A wwaml 98 &9am © 7

Options:

| » 9T aeSl 91 fovw @ g=E (Sign and mass of charge carriers)

4

o ECOFE 1Y ST arwel @ wiEar (Mass and concentration of charge carriers)

. wael AgT aes @1 = (Sign of charge carrier alone)

L

omaET aEw! @ e offY wiEer (Sign and concentration of charge carries)

Question id : 3938 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

What will be the carmer concentration of the metal sample at room temperature if the hall coefficient 1s

-

4}(1!'.1_4 m- coulomb_l?
Options:
22 3
1. %10 /m
24 3
%10 /m

24, 3
1

-3

3 %10

22, 3

4«10 /m

Question id : 3938 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

= 4 03 = L e ; . ;
7% hall 1or% 410" m™ coulomb ™ € 77 @19 & wioey (sample) =1 &7 & T1THA W IEF H=a (carrier
concentration) & £ 7

Options:
22 3
1 B 10 ’," m

24 3

% 10 -24 mﬂ

(RN ]

. 10 -zzf,ma

Question id : 3939 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



What is the behaviour of a FET, for large values of |Vos|?
Options:
| ® Voltage conftrolled resistor

, 3 Current controlled current source

- o Voltage conftrolled current source
J.

® Current controlled resistor

Question id : 3939 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
|Vos| & ot At ow FET &1 @aer 7/ & & &9 &1 8 7

Options:
| % diecal Fafte wfeee (Voltage controlled resistor)

| o TEiEE g W (Current controlled current source)

,

qrecal FOfEm o @ (Voltage controlled current source)

<

o ©1 ot g (Current controlled resistor)

Question id : 3940 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
What is the impact, if the bypass capacitor is removed from emitter-leg resistor in a CE amplifier?

Options:

| % Increase in current gain

-~ 3 Decrease in current gain

5 % Increase in voltage gain

4 Decrease in voltage gain

Question id : 3940 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

i CE waeiw 5 woarmi aww (bypass capacitor) gers® o wiaee (emitter-leg resistor) & e fomar @ & &
RIELH G2 i 0

Options:
BT # gfF (Increase in current gain)

1.

, @ 7 T (Decrease in current gain)

)

y dTeedT T 4 g (Increase in voltage gain)

qrecal wiel 7 &A1 (Decrease in voltage gain)

Question id : 3941 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Vithich among the following has unit of Ampere-second?

Options:



| ® Power

) % Conductance
3 % Energy
v Charge

Question id : 3941 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
=1 7 & fower 322 v §3= (Ampere-second) £

Options:

| % Tiam (Power)

4 =@ (Conductance)

« a1 (Energy)

Ll

. ara=r (Charge)

Question id : 3942 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
From the diagram given below, find out the value of Ry for which power is maximum.

—AM—

60 Re
—_\NV NN
50

80 12Q

Options:
| # 3.660hm

4 3.77 ohm

; % 3220hm

4 % 4ohm

Question id : 3942 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



faq v ufuy # wfoeaw ofed & forg R, &1 &9 @& g 2

AVAVAY,
60 Ri
ATAVAY ATAVAY
50
6\,} j—_.—
8ﬂ§ §12§a
Options:
| % 3.660hm
- 3.77 ohm
3.22 ohm
3 ks
, % 4ohm

Question id : 3943 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
A metallic spherical shell has:

Radius = p
Charge=0Q
What will be the potential energy (U) of the system?
L+ + + :
- 4
} s . 1
1 E=0 $
+- = s
+ +
+ i
iy
+ -
1 f
+ +
i = f
i
Options:

| % UsQumep
. o U=QiBmegp
% U=QY2negp

o U=Q'megp

Question id : 3943 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



TS U F1 el Fo= (spherical shell) =51
f=r=zo7 (Radius) = p

g (Charge) =Q

== 3 ¥g S (potential energy) T =T

e o
+ .+
+ +
o ol o L +
+f E=1 \ +
T L 1
- +
.+. g i
: \ /!
- L
+ % +
o +
I Vg & 7F
Options:
2
| % U=Q°/ATE p

|, U=0Q7/8TEqp
, 3 U=Q/2MEqp

4 U= Q7/TEqp

Question id : 3944 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

For the given circuit calculate voitage drop across Ry.
Given V=12V,

Ri=20ohm

R=2 =3 ohm

R: =3 ohm

R: =3 ohm
V; R-‘ Vv,
L 3

- a
S 3n

*
| r—a
D
——
Options:
| % 2V
4 av

w 4V

L



, % BV

Question id : 3944 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
fav v ufiyy § R, & BNl W aicear f&a=i sFfT ?

Given V=12V,
R; =2 ohm
R, = 3 ohm
R; = 3 ohm
Ry =3 ohm
v, R, v,

ng g

Options:

A

Question id : 3945 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Vithich of the following is usually expressed in decibels in terms of the input and output parameters?

Options:
| % Load

1 & Gain

s Current

L

@ Resistance

Question id : 3945 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

== # ¥ ®1 =au-f+7a (input output) w=mer (parameters) Sfifaes (decibles) % g=ema o= & 7

Options:
| % ¥¢ (Load)

, T (Gain)
5 % &1 (Current)

s T (Resistance)



Question id : 3946 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Vhich of the following is a common signal found in power supplies after the sine wave input power has
been rectified using a diode or diodes and if an output filter capacitor is not used?

Options:
4 Full Wave Rectified Sine wave

. % Symmetrical square wave

3 % Half Wave Reclified Sine wave

. % Asymmetrical square wave

Question id : 3946 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
w3 e wiem =@ (power supply) # =9 TS/ TETEl B wwEa @ W T w9 wEw (input sine wave power)
afveifes (rectified) 1 = € o oY frfe ews e (output filter capacitor) & woam a8 o € @3 &9 oo

-

& waa (signal) o g 2

Options:
| IO T afmrfee s &2 (Full Wave Rectified Sine wave)

FAET g7 79 (Symmetrical square wave)

. aeiaeT givefed w1 @99 (Half Wave Rectified Sine wave)

L

. e giveried = @9 (Half Wave Rectified Sine wave)

Question id : 3947 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which of the fr:rllnwing Ell'u"-"a‘_-f"S increase [Dr at least maintain] the signal pCIWEI"'?

Options:
| % Transformers

. Amplifiers
3 W@ Potentiometers

4 % Multimeters

Question id : 3947 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
== # ¥ ®1 T Hod wfen (signal power) TgTar © 7 manffe (maintain) FEaT

Options:

| STEPEN 7 (Transformers)

=)

vaed (Amplifi
o (Amplifiers)
y TasgErr (Potentiometers)

% Feeme? (Multimeters)

I

Question id : 3948 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



Following methods are used to increase the input resistance of a common emitter stage(BJT). Arange
these methods in descending order of effectiveness.

1. Un-bypassing emitter resistance
2. Bootstrapping

3. Biasing it at low quiescent current
4. Using compounded BJTs

Options:
| & 2>4>1>3

~ o 4=3=22=1
3 ® 2=24>3>1

% 4>2>3>1

Question id : 3948 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

W37 ImwE W (common emitter stage(BIT). = Mm@ wieww (input resistance) s&m & &g fre=r fBfimt = w9
oo T B 599 W weiteE ® wed 4 (effectiveness) s wmm wE £ 7
1. 5ot wews oW @ et = & @ (Un-bypassing emitter resistance)
2. 3wrm F9 # (Bootstrapping)

3. 7= T 99 ¥ 799 99 9 (Biasing it at low quiescent current)

4. Fiam BITs & w9zm & (Using compounded BITs)

Options:
| 2>4>1>3

% A>3>2>1
;% 2>4>3>1

% A>2>3>1

Question id : 3949 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Calculate the valtage '/ of the circuit shown in the given figure
+10W

M 4.3k0

Options:
| ® 2V
~n B 4.El"|'ll
3 av

BEV

Question id : 3949 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



ﬁwtrﬁmmﬁvcaa—rnmﬁrmﬁﬁm?

+ 10V

W 4.3k0

Options:
2V

1%

46V

; w8V

, % 86V

Question id : 3950 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Hartley oscillator generates

Options:
| s Vvery low frequency oscillation

N radio-frequency oscillation
- ® microwave oscillation
a.

4 % audio-frequency oscillation

Question id : 3950 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Tieel (Hartley)siftm ¥ v s ee9 m2ar © 7
Options:

| % &7 B @mgia = == (very low frequency oscillation)

” Iz ey + e (radio-frequency oscillation)
; % B T4 =19 (microwave oscillation)
, w74 amgfe @ == (audio-frequency oscillation)

Question id : 3951 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

If a class C power amplifier has an input signal with frequency of 400 kHz and the width of collector current
pulses of 0.1 Hs, then the duty cycle of the amplifier will be

Options:
1 8 1%
3 % 3%

L@ 4%



Question id : 3951 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
v i C vode & fEw w99 (input signal) 200 kHz &= swes a1 792 (collector current pulses) 0.1Ms & &1 umis
w1 Faurier 2 (duty cycle) fFa=T =0T

Options:
Q
1 #® 1%
)
. 2%

% 3%

v 4%

Question id : 3952 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

What does the following given circuit represent?

¢ *Vee
Ra,
4 8
7 34—
Vlowd
Re 555 |
8 5 X POT
b 3 1
1 . dd
Options:

| ® An astable multivibrator
~ A monostable multivibrator

5 « Voltage-controlled oscillator

% Ramp generator

e

Question id : 3952 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

foar mar o foder ufaf=aficg &oar € 7

e
Ra,
4 8
7 it—o
Vet
Re 555 |
[ 5 - POT
b 3 1
C J_ vﬂl‘.ﬂ
1  d
Options:

% e goaan (An astable multivibrator)



. P Fufds sgafia (A monostable multivibrator)

o N mafam =fers (Voltage-controlled oscillator)

Led

. g &= (Ramp generator)

Question id : 3953 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Consider the following given circuit and calculate the output voltage W
1k}

Options:
| % =100 my

. -100V
s % 10V

4 =10 my

Question id : 3953 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

T T afvwer # T areed (output voltage) V) feer BT ?

Options:
| % -100mV

, % -100V

% 10V

(RN ]

o -lomv

Question id : 3954 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
For the given circuit calculate the value of current |

4 A
o
S
-4 E""
L
A i0

Options:



| % 2A

Q;¢1A

-2

% 4A

Question id : 3954 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
fag 1y gfvge & awr I faae et 7
a A

20

Options:

% ZA

v 1A

L-2

3 W 4 A

L 3A

Question id : 3955 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
For the given circuit, calculate v;.

'y ay
100 ¢ I

S
10V :-a%mﬂu

Options:
% 2V

100 11 30 mA

1
7 o T
3 ® 9V

L x 1V

Question id : 3955 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



faw 7y ofewer § v, faem emm 7

100 @ 8V

*)10V 100 0 ! )30 ma

Options:

L% 5V

Question id : 3956 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Given an aluminium conductor of Iength 300 m and cross section diameter of 20 mm. DC ‘H’DHEQE is1.2V
between the ends. Calculate the power dissipateﬂ.
[Assuming @ = 3.82 X 10" mho/m for aluminium]

Options:

| o 2TBW
A w99 dW
308 AW

, % 539W

Question id : 3956 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
TH AEIHITTA © GEeE 9 S 300 m AW 3ER @E (cross section diameter) 20 mm ) fEmwE 12 V T ™
TR TS mfed &9 (power dissipated) fEE Em T
[0 = 3.82 X 10" mho/m wr=geifyms & fm)

Options:

| v 57.6W

| % 55.4W
, % 54W
4 55.9W

Question id : 3957 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The point P( 0.1, /12, T/24) is located at a conductor free space boundary. Find magnitudes of D, given:
v (Potential field) = 100 e™Sin 3y Cos 4z V.
(Where Dy, is normal compeonent of field)



Options:

| 1992 nc/m’
, % 1.229nCim’
; % 1.55nC/m*

a

, % 178nCm’

Question id : 3957 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

fag P( 0.1, M/12, M/24) 595 s oioam (free space boundary) ™ frg ¢ o5 V 9w &= (Potential field) =
100 e™Sin 3y Cos 4z V =7 & D, &7 w7 71 &7 7
(D, = &= 1 WY 9T T)

Options:

| «1.992 nC/m*
2

) % 1.229 nC/m

, % 1.55nC/m’

2
. % 1.78 nC/m

Question id : 3958 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Consider the ﬂgure given below and calculate the value of €5, IT €52 = 2.5 and total capacitance is 60 nF.

Options:
4 3.08

N R 3.9
3 ® 20948

x 348

Question id : 3958 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



= fo 4 ofs €y, = 2.5 i 7o oifar 60 nF ¢ a1 €, =1 719 =97 & 7

Question id : 3959 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

An electron starts at the negative plate of a plane parallel plate capacitor across which a voltage of 2000 V
is applied. The distance between the plates is 3 cm. How long has the electron been travelling when it
acquires a speed of 10” m/sec?

Take, Charge on an electron(e) = 1.6 x 107°C and Mass of an electron(m) = 9.1 x 10~ 'kg

Options:

| % 8.5x 107 sec

. £9.5x107 sec

v 8.5x107 sec

(]

. % 9.5x 10" sec

Question id : 3959 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
U WA =E 4R (parallel plate capacitor) $ o W 2000 Vameam e M g wei s = F W 3em 1 F
ToEET TS wE W UeW BT £ 107 m/fsec # N WTE S fve fea WO e 7
(sereET wT AT = 1.6 x 107°C o zeiapt= &1 7w =9.1x 107 kg £)

Options:
-7
“ 8.5x10 sec

. £9.5x107 sec

v 8.5x107 sec

(]

. % 9.5x 10" sec



Question id : 3960 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

If an electron starts at rest with initial velocity = 0 m/sec and is accelerated by a potential of 0.9V, the final
velocity is:

Options:
| % 1.77x10" misec

5 o 1.2x10° misec

5 % 1.34x 10% misec
% 2.13x10* misec
Question id : 3960 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

UF ol 9 (at rest) W oS @ (initial velocity) = 0 m/sec & =@ € 2w 0.9V % fowa (potential) = =g
{accelerated) =/ £ 1 2% @ (final velocity) f& = 7

Options:
4
| % 1.77 x 10" m/sec

Lo l2x 10* m/sec

% 1.34x 10" m/sec
. % 2.13 x 10* m/sec

[N ]

Question id : 3961 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Instruments having dre pn‘marily resp:}nsible for |Dﬂdiﬂg effect.

Options:
| s high resistance

,  high sensitivity

3 low sensitivity

% high range

Question id : 3961 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
awo 99 (loading effect) @ fog =i a1 9 & & o Segdi gaT © 7

Options:

| % 94 gieerer (high resistance)

« 972 geal (high sensitivity)

)

” == gamar (low sensitivity)

L

o T T (high range)

Question id : 3962 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
The difference between the measured value and the true value is called:

Options:



| % Gross error

» w Relative error
. gy Probable error
J.

4 Absolute error
Question id : 3962 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
19 Y #19 (measured value) 3T WET A1 (true value) @ 3 &1 FO1 &E Tl 7

Options:

| % %o FfT (Gross error)

. JuEs Fe (Relative error)
ol A (Probable error)

, » 7 7T (Absolute error)

Question id : 3963 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which of the following pairs is comrectly matched?
Options:

Anderson bridge - Capacitance , Kelvin Bridge - Low Resistance, Schering Bridge - Inductance,
% Wheatstone Bridge - Medium Resistance

—_

Anderson bridge - Capacitance , Kelvin Bridge - High Resistance, Schering Bridge - Inductance,
~ % Wheatstone Bridge - Medium Resistance

Anderson bridge - Inductance, Kelvin Bridge - Low Resistance, Schering Bridge - Capacitance, Wheatsione
3 Bridge - Medium Resistance

Anderson bridge - Inductance, Kelvin Bridge - Capacitance, Schering Bridge - Low Resistance, Wheatstone
s Bridge - Medium Resistance

I

Question id : 3963 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
=9 % ¥ == ¥ T (pairs) § we1 f5em= (matching) © 7
Options:
USTET HO—uieal, Sfead B — T Wod, T Sg-aioenn, @ Wi §g- 7 wheee (Anderson bridge -
Capacitance , Kelvin Bridge - Low Resistance, Schering Bridge - Inductance, Wheatstone Bridge - Medium
| % Resistance)

TSTHT T—eTedl, Siegd Wg — 9= Ahwe, Wi Tg-viaann, ©e ®in Hg- 74 Towe (Anderson bridge -
Capacitance , Kelvin Bridge - High Resistance, Schering Bridge - Inductance, Wheatstone Bridge - Medium
4« Resistance)

TSvET Ug-aTe, Sfeaq Ug — g uwy, Wit gg-anfien €2 ) 99— %4 7R (Anderson bridge -
Inductance, Kelvin Bridge - Low Resistance, Schering Bridge - Capacitance, Wheatstone Bridge - Medium
o Resistance]

Ll

TETHE Hg-HiaaE, SfeaT ¥ — e, i S-F ufaey, &2 wE Hg- 759 99w (Anderson bridge -
Inductance, Kelvin Bridge - Capacitance, Schering Bridge - Low Resistance, Wheatstone Bridge - Medium
5 Resistance)

I



Question id : 3964 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Calculate the limiting error of an ammeter of range 0.25 A given also that it has a guaranteed accuracy of
1% of full-scale reading. The current measured by the ammeteris 5 A,

Options:
| ® 2%
LK. 2.5%

_W 4%

(]

2%

<

Question id : 3964 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
T wHET # ww 0.25 A ) oo we g (full-scale reading) ww memiEr (accuracy) 1% £ 1 aET W Wnd T A
SA#
steT @ wrea gie (limiting error) feae erft P

Options:
0
L% 2%

L 2.5%

&

. 4%

i)
4.#’5{{]

Question id : 3965 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
The function of the reference electrode in a pH meter is to

Options:
| produce a constant voltage

. 3 Pprovide temperature compensation
; % Pprovide a constant current

4 Measure average pH value

Question id : 3965 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
& pH meter % H3¥ suiegis (reference electrode) FT F= ¥ ¥ 27 w1 &0 © ¢

Options:
. fier greear 9= &9 (produce a constant voltage)
|, TTHRE BI a0 (provide temperature compensation)

o, TR &7 7eTT F9 (provide a constant current)

. % Fraa pH 71971 (measure average pH value)

Question id : 3966 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Represent the resistivity of the wire material in LMTI system.
(Where M =mass, L = length, T =time, | = current)



Options:

| % MLIT
, % MLUTEI?
s o MUTI?

, % MUT?

Question id : 3966 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

LMTI %=1 % 9% &1 uRrrea (resistivity) feesr == 7

M = 2=g79 (mass), L =33 (length), T=5=1 (time), | =197 (current)
Options:

| ® MLPT1?
, ow MLATO?
s o MUTI?
, % MUTH

Question id : 3967 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

An op-amp has cpen-loop gain 100000 and the open- loop upper cut-off frequency of 20 Hz. The unity-gain
frequency of the op-amp is

Options:
| 2 MHz

~ & 1MHz
3 % 3 kHz
g 2KkHz
Question id : 3967 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

TF op-amp @ Teoard wel (open-loop gain) 100000 T T Tl U oFe agw (cut-off frequency) 20 Hz €1 op-
amp ¥ TEa @fE AgE (unity-gain frequency) 7 T 7

Options:

| 2 MHz

, %1 MHz
IWBkHz
4 % 2kHz

Question id : 3968 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



The reading of high impedance voltmeter V' in the bridge circuit shown in the given figure is:

1oV

Options:
| ® Zerg

) & 333V
3 % 420V

4 % 666V

Question id : 3968 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
fz= # fewemn v wg viuy § 9= ufeann (high impedance) aeedies &1 wguia @1 BT 7

Options:
| % ero

s 333V

% 420V
% 6.66V

Question id : 3969 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Rochelle salt is a crystalline material used in producing

Options:
| % velocity transducer

. 3 Photoelectric transducer

2 o piezoelectric transducer
3.

4 % differential transformer transducer

Question id : 3969 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



Rochelle salt 7= fFeeeim w=nt ¢ o5 %=1 & & f&w® w==" (production) ¥ wvarT fsar wer & 7
Options:

% 97 gregas (velocity transducer)

=

T famd Trasgar (photoelectric transducer)

1

&

. p T T TEegsEy (piezoelectric transducer)
.

. % el giaw e giasgar (differential transformer transducer)

Question id : 3970 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
A resistance strain gauge is mounted on a steel plate which is subjected to a strain of 1 x

10'6. What would be the change in resistance if original resistance was 130 Ohm? Given that
gauge factor of strain gauge is 2.

Options:

| % 35619

% 467 HR
; o 260182
4 % 12008
Question id : 3970 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
T Tt (strain gauge) T8 Wie wig W @l (mounted) § e w ity 1x10° £

of fagfesd &1 9 7o (gauge factor) 2 & v o€ 99w (original resistance) 130 @ & & wfeew # T oo
|,_-. 1l ?

Options:

| = 356 Q2
. % 467 MKY
, » 26010

. 12019
4.

Question id : 3971 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



Consider the following given image and identify it.

O

Options:

|

-

3

4

% Output of a Butterfly filter
 Output of a Half-Wave rectifier
% Output of a Full-Wave rectifier

% Sinusoidal signal

Question id : 3971 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

€,
!
V]

0 2t —p Ot

Options:

1

o]

s T2% Ters fieey @1 ew (Output of a Butterfly filter)

v o w99 fawman @ g (Output of a Half-Wave rectifier)

T T fewmerd @ e (Output of a Full-Wave rectifier)

o, T T (Sinusoidal signal)

Question id : 3972 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Vihen a voltage is applied, the direction of electric field is always from to

;

wt

Options:

|

~

=

. Positive, negative

% negative, positive



3 % naorth, south

4 ® west, east

Question id : 3972 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
areedT e 1R IR & Wed o TH EAI T 7

Options:
EEToAd, TRUTeAS (positive, negative)

1@

| T, geRd (negative, positive)

5 T i (north, south)

-
3.

. % I%¥=A, 79 (west, east)

Question id : 3973 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
XY recorders

Options:
| record one quantity with respect to another quantity

. 3 record quantity on x-axis with respect to time on y-axis

3 ® record quantity on y-axis with respect to time on x-axis

% record quantity on x-axis with respect to length on y-axis

I

Question id : 3973 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
XY #f¥ert (recorders) &7 #5957

Options:

| @ T HEN H gEE WEN | AfeeiEs &9 ¢ (record one quantity with respect to another quantity)

o X OH T HTET Sy 6 W WY @ielfas v © 1 (record quantity on x-axis with respect to time on y-axis)

o Y T T A % x @5 7 e =99 1 (record quantity on y-axis with respect to time on x-axis)

e

g X W T AEN AR y ¥ W e @we 9 £ (record quantity on x-axis with respect to length on y-axis)

Question id : 3974 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Why interpoles are used in dc machines?

Options:
4 To counteract the reactance voltage.

. 3 To counteract the demagnetizing effect of armature mmf in the commutating zone.

5 % To counteract the magnetizing effect of armature mmf in the commutating zone.

4 % To convert dc em.f. to ac em.f.

Question id : 3974 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



feeemst 7T (de machines) 5 sigdus orer 70 SuUTT BT @9 £ 7

Options:

. gigT deedl & Ffaad $ed & forw | (To counteract the reactance voltage.)

Fw ot &= = arte MMF 2 figes e &1 9fsee 395 & & (To counteract the demagnetizing effect of
- 3 armature mmf in the commutating zone.)

F7 s &9 4 ams MMF & S35 m &7 55@d &9 @ @7 (To counteract the magnetizing effect of
5 % armature mmf in the commutating zone.)

4. % dec e.m.f. @ ac e.m.f. H UGS & fU(To convert de e.m.f. to ac e.m.f)

Question id : 3975 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
The current drawn by a 460% dc motor of armature resistance 0.5 Ohm and back emf 420V is

Options:
| 8 Amp

5 0.8 Amp
3 80 Amp

% 800 Amp

I

Question id : 3975 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Teh 460 V SILE1 Hiew forwedr e gfewrer 05 ohm afiv faurdt faege areedae (back
emf) 420 V féaer emer oFft ?

Options:

| ® SAmp

. 0.8 Amp

)

3.\\;,f?SICJ,ﬂulrnp
. % 800 Amp

Question id : 3976 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

In which of the following dc motors the value of power drawn remains same at different loads?
Options:
1 s Cumulative compound

5 Differential compound

3 o Series

% Shunt

Question id : 3976 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

/= # | 3 SIEL Ay e R0 W §EE 99 (same power) w5 T 7

Options:



% #=g fAfaE 727 (Cumulative compound)

. TowEr f&fEE A (Differential compound)

. T AE (Series)

J.
. tz A7 (Shunt)

Question id : 3977 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

1
\

-

s

What are the parameters of y and x coordinates respectively with reference to above given V' curve.
Options:
1 v Armature current and field current

" Power factor and field current

. R Armature current and torque
J.

. o Torque and field current

Question id : 3977 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

ffrmg 'V'ow # yae x o7 9 § Tt @ Adww o £ 7 (What are the parameters of y and x coordinates
respectively with reference to abowve given 'V' curve.)

N\ /

|t sy

Options:
AR g7 AT &= e (Armature current and field current)

Y 4

1 ¥

. TMEd T SR e = (Power factor and field current)

L2

" JFEE = A goEe (Armature current and torque)

L

. F0Tet 312 &= e (Torque and field current)

Question id : 3978 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which of the following is true for a synchronous condenser?



Options:
| ® It is a synchronous motor with capacitor connected across stator terminals to improve power factor.

. g Itis a synchronous motor operating at full load with leading power factor.

It is an over-excited synchronous motor partially supplying mechanical load, and also improving power
4 factor of the system to which it is connected.

It is an over-excited synchronous motor operating at no-load with leading pf used in large power stations for
 Improvement of power factor.

Question id : 3978 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Te0 e 9F (synchronous condenser) & W9y 5 &1 W $2F @00 © ¢

Options:
T TF o8 oNe Ao s wor offse o o W uns wies e e © R 9w e € (Itis a synchronous
| % maotor with capacitor connected across stator terminals to improve power factor.)

TE UF TUSTE H27 A U0 4 W o7 wiE s W oAwE § (Itis a synchronous motor operating at full load
. s with leading power factor.)

T UF AfAewAs TeUeNS WieT € O I AR 1 e v w1 § o0 faw 99 ¥ g e € 9ue ufw Tons
warE § (It is an over-excited synchronous motor partially supplying mechanical load, and also improving
s power factor of the system to which it is connected.)

L

7T UF dfeeae HieT § A I Y W P S § e o iR TUie O B § YiE oS ged $ e wm
s £ (Itis an over-excited synchronous motor operating at no-load with leading pf used in large power
4« stations for improvement of power factor.)

Question id : 3979 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

It is given that the starting current of a 3% induction motor is 3 times the rated current, while the rated slip is
6%. What would be the ratio of starting torque to full-load torque?

Options:
| % 08

- u 18

(%]

K4 0.54
g % 1
Question id : 3979 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

TF 3 B mUi #ex (induction motor) 7 UEWE @19 (starting current) TG & (rated current) F1 3 T €
urfa® grige (starting torque) & woiam geige (full-load torque) &1 s @ ©rm 7

Options:
% 06

% 18
054

4.“1

Question id : 3980 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



Consider the following given statements about auto-transformers and choose the one which is/are correct.

1. Auto-transformers require less copper as compared to a conventional, 2-winding transformer of the same
capacity.

2. Auto-transformers provide isolation between the primary and secondary windings.

3. Auto-transformer has less leakage reactance as compared to the conventional, 2-winding transformer of
the same capacity.

Options:
| ® Only 1 and 2

. Only 1 and 3
3 % Only 2 and 3

g Only 1

I

Question id : 3980 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
e § 9 woitms 2 (auto-transformers) & wdu | &= w1 Hu w81 € 7

L =t soren & ©F oiowren @ gern | wufvom B ¥ oW w2 smowas onlt 8 (Auto-transformers require less

copper as compared to a conventional, 2-winding transformer of the same capacity.)

II. =afyoms = wefss o B0 soo0 = 9 T¥m 750 90 © 1 (Auto-transformers provide isolation between
the primary and secondary windings.)

ML =5 99e7 # TF SIHET B e § WEeenE W # w9 599 gigme o ¢ (Autoe-transformer has less leakage
reactance as compared to the conventional, 2-winding transformer of the same capacity.)

Options:

% Faal 1 27 2 (Only 1 and 2)

. 9 1 3R 3 (Only 1 and 3)

; « Dacl 2 2T 3 (Only 2 and 3)
L% @ael 1 (Only 1)

Question id : 3981 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Match List-1 (Regulation method) with List-1l (Relevant phasor) correctly.
List-1

A S}"HCI'!FDHDLIS impedan{:e method

B. mmf method

C. Zero power factor (ZPF) method

D. American Standard Association method

List-1l

1. emf phasor

2. Predominantly mmf phasor

3. Both emf and mmf phasors

4. emf and mmf phasors including saturation

Options:

| A-1, B-2, C-3, D4

% A-1,B-2,C4,D-3
, % A2B-1,03D4

4 ® A2 B-1,C4,D-3



Question id : 3981 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
e I 9= fafer (Regulation method) &1 e 11 werm fawenos (phaser) & &= &4 |
feree I (List-l)
A. e wiaaren @ (Synchronous impedance method)
B. A uw. fafer (mmf method)
C. 377 =it o o (Zero power factor (ZPF) method)
D. 7aEs wes aEHETya @ (American Standard Association method)
feree 1T (List-11)
1. 3TA.7%. Ten faenTs (emf phasor)
2. U TATATE. Fenl fawegs (Predominantly mmf phasor)
3. 2F 3.UATE. U TATATE. don fawas (Both emf and mmf phasors)
4. 3UATE T MUATE dgrd |@ed (emf and mmf phasors including saturation)

Options:

| o A-1,B-2,C-3,D4

. % A-1,B-2,C4,D-3
. A2,B-1,C3,D4
. A-2,B-1,C-4,D-3
4.

Question id : 3982 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Because of which of the following reasons the phasor addition of stator and rotor mmfs is possible in a
cylindrical rotor synchronous maching?

Options:

| % Two mmfs are rotating in opposite direction.

4 Two mmfs are rotating in same direction at different speed.

v Two mmfs are stationary with respect to each other.

@ One mmf is stationary and the other mmf is rotating.

Question id : 3982 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
= | o ol $R0 | Eissel ey geuans FuH 7 wer A7 ey MMF &1 e I 590 © 7

Options:
| % F=t MMF fa=rlt femmer % g9t © 1 (Two mmfs are rotating in opposite direction.)

2 % 3 MMF = € R 3 s wfssi ® g7 €1 (Two mmfs are rotating in same direction at different speed.)
» 37 MMF 7% g3 & e ¥ fee ©) (Two mmfs are stationary with respect to each other.)

, 12T MMF far § & 5991 g% 98 1 (One mmf is stationary and the other mmf is rotating.)

Question id : 3983 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Why rotor skewing is used in a three-phase squirrel-cage induction motor?

Options:



| ¥ To reduce noise, parasitic torque, starting torque and pullout torgue

% Toreduce noise and parasitic torque, but increases starting torque and pullout torque

3 ® To reduce noise and pullout torque, but increases parasitic torque and starting torque

% To reduce noise, parasitic torque and starting torque, but increases pullout torgue

Question id : 3983 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
3 ¥ fowe wee A2 (three-phase squirrel-cage induction motor) # ¥1iew =757 (skewing) & w3 =91 faman @ma
£7
Options:
WTATH, TES guEE We geew A e aen geee $9 @v @ o (To reduce noise, parasitic torque, starting
|« torque and pullout torque)

AT, TSI gUan @9 P gig wee goide A fims @men gefsw 957 @ frg) (To reduce noise and parasitic
5 torque, but increases starting torque and pullout torque)

= ATe guiae BY B9 % fO W WEm geiEge R g guiaw 38M % 311 (To reduce noise and
3 % pullout torque, but increases parasitic torque and starting torque)

AT, TEHE VAT WY WS OVEd @6 S99 @ (6 921 Taes @en goes 98m @ o | (To reduce naoise, parasitic
5 torque and starting torque, but increases pullout torque)

I

Question id : 3984 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
VWhich among the following is true for a shaded-pole induction motor?

Options:

The rotor runs from the shaded portion to the unshaded portion of the pole while the flux in the former leads
s that of the latter.

The rotor runs from the shaded portion to the unshaded portion of the pole while the flux in the former lags
. g thatin the latier.

The rotor runs from the unshaded portion to the shaded portion while the flux in the former leads that in the
. o latter.
J.

The rotor runs from the unshaded portion to the shaded portion while the flux in the former lags that in the
w latter.

Question id : 3984 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
ot urer weut wiew (shaded-pole induction motor) @ Hay ¥ &9 Haw W0 € 7

Options:
e WG A ¥ AU 7O & G & Sodr § | Wy 9ees uiae A 3 worad 919 # @7 (leads) #1 (The rotor runs
from the shaded portion to the unshaded portion of the pole while the flux in the former leads that of the

| latter.)

<% DT A W Wona A o Bw ¥ monn £ 9y Toew uitan A | aonan A o 79w (lagging) #1 (The rotor
runs from the shaded portion to the unshaded portion of the pole while the flux in the former lags that in the
~ #® |atter.)

L-2

=T doTiiE B | uifha = o e § ween € oy oenie 31 H UEes I 8r # a7 (leads) £1 (The rotor runs
@; from the unshaded portion to the shaded portion while the flux in the former leads that in the latter.)

et WU ®9 H GIiad J9 S 80 # 5o € w6y Awid 569§ gees unid |5 | 99" (lagging) €1 (The rotor
4 % Tuns from the unshaded portion to the shaded portion while the flux in the former lags that in the latter.)



Question id : 3985 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Which among the following techniques is used to increase the torque of a reluctance motor?
Options:
| ® Increase reluctance of the magnetic circuit along the direct axis.

.y Decrease reluctance of the magnetic circuit along the quadrature axis.

3 o Increase the ratio of the quadrature axis reluctance to direct axis reluctance.

4 ® Decrease the ratic of quadrature axis reluctance to direct axis reluctance.

Question id : 3985 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
wfeA Ae? (reluctance motor) &1 gviae (torque) 78 & &g 7= # ¥ 7w @@ &1 9o oo @ € 7

Options:
| % s aE W AT e &7 F gawes 787 | (Increase reluctance of the magnetic circuit along the direct axis.)

FEFHIUEH A F AT IDIT 5T F Howa F5 991 (Decrease reluctance of the magnetic circuit along the
. % quadrature axis.)

&

FEPIUE HE ¥ UrOs #8 © diawd @1 &aue 3z | (Increase the ratio of the quadrature axis reluctance to
q

. direct axis reluctance.)

a.

FESRIUD MF H7T T 39 T gfaws @ e =8 30| (Decrease the ratio of quadrature axis reluctance to
5 direct axis reluctance.)

I

Question id : 3986 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The maximum kYA delivered to load corresponding to maximum efficiency is equal to rated kvA multiplied
by which of the following factor?
(Where P. = core ohmic losses, Ps. = fulldoad ohmic losses)

Options:
| % Pe/Pac

, ¢ VPP,
3 4 {P.':l'lps-c:nz

s (PsolPe’

Question id : 3986 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
wiftsr KVA & =1 A 8 s ovg 9 on oo o, fras ofRress sa o 9 & sfosss KVA o= 51 59 7 (The
maximurn kVA delivered to load corresponding to maximum efficiency is equal to rated kVA multiplied by
which of the following factor?)
[Pc == onfes orfs € v Psc = gomm anfeas o ]
(Where P = core ohmic losses, P.. = full-load ohmic losses)

Options:

PP
v VPP

% (Pe/Psgy’

Lsd



2
n 5 {Pscfpc}

Question id : 3987 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Match the following correcthy.
List-I

A. dc series motor

B. Squirrel-cage induction motor
C. dc shunt motor

List-ll

1. Shearing and pressing
2. Haulage and hoisting
3. Rolling mmill

Options:

| % A1.B-2C3

. A2 B-3 C-1
; % A3,B-1,C2

% A3,B2C1

Question id : 3987 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

=% e #2 | (Match the following correctly.)
foree T (List-l)
A. 191 2mf 5122 (de series motor)
B. fifee wwoft w22 (Squirrel-cage induction motor)
C. Sr41. ¥ie Arez (dc shunt motor)
forem 11 (List-11)
1. smmor, Sore= (Shearing and pressing)
2. ges oY @™ & forw (Haulage and hoisting)
3. = & (Rolling mill)

Options:

L A1B2C3

v A2,B3,C1

=)

. %A3,B-1,C2

, x A3,B2,C1

Question id : 3988 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which of the following is true for a switched reluctance motor?

Options:
| ® It is a salient pole synchronous motor without excitation winding.

. Itis a stepper motor with salient poles.
. s Itis a synchronous motor with salient poles on stator and rotor.
a.

. « Itis a stepper motor with closed loop control and with rotor position sensor.

I



Question id : 3988 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

fig== uftew #ex (switched reluctance motor) @ Way # &9 ¥ %@ W4l ©

-

Options:

L

®

]

®

v

TT 4T F=ell UY TeOEE AT O Inee f2em £ (It is a salient pole synchronous motor without excitation
winding.)

9% wWierde 9w wica waied Aer © (Itis a stepper motor with salient poles.)

TE TEUENRE Red § fAEe wed O e ™ wee oen ¢ (Itis a synchronous moter with salient poles on stator
and rotor.)

TF 95 T aEe W v fafs woss wies Wi qey £ (It is a stepper motor with closed loop control and with
rotor position sensor.)

Question id : 3989 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
In SCR, surge current is

Options:

1

=B
=B
&

®

Repetitive current with sine wave
Mon-repetitive current with rectangular wave
MNon-repetitive current with sine wave

Repetitive current with rectangular wave

Question id : 3989 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
SCR % == umor (surge current) &9 =57 £ 7
Options:

)

L

w

®

v

#

TSt |l T w9 Afed (Repetitive current with sine wave)

FgATTEd] 9T, aETeeE @i w@eg (Non-repetitive current with rectangular wave)

L]

Al €T w9 @9 "@iea (Non-repetitive current with sine wave)

Al €T amTaTee w9 wied (Repetitive current with rectangular wave)

Question id : 3990 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

In dual convertor, the circulating current
A) Allows smooth reversal of load current
B) Improves speed of response

Which of the options is true?

Options:

1

®

-..W

R

4 %

Only A is true
Only B is true
Both A and B are true

Meither A nor B is true



Question id : 3990 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

7% f2 7Rags (dual convertor) ¥ sEamd (circulating) ema

A) 9 g1 @7 799 9oee o ¢ (Allows smooth reversal of load current)
B) arfirmr &1 7 Zeml © (Improves speed of response)

Options:
| % 0 A ==3 © (Only Ais true)

 ,, F9e B w1 € (Only Bis true)|

&

. <71 A 9 B 1 T (Both A and B are true)

a.
, % TA # =1 B wew © (Neither A nor B is true)

Question id : 3991 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The current flowing through a semiconductor is iz and n is number of electrons per unit volume of the
semiconductor, then drift velocity va is calculated as:

Options:

i 5 Wy = Mg

N R Vd = Nig

=i
3 o Vo = g
% Vo= ()N
Question id : 3991 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

T IS # WATET T arenl '@ ig ¥ AN wfE e onroes (per unit volume) IEEgE BT W n t sman o (drift

velocity) fFem 57 7

Options:

| ® Vg = n/ig
_— Vg = nid
3 o Vd= id;’n

w Yd= “d]zf’ﬂ

Question id : 3992 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which of the following statements is correct?

[ A woltage source inverter (Val) 15 emploved when source inductance is small and load inductance is large
Iy IGBT is a unipolar device.

[IDA current source inverter is obtained by mserting a large inductance in series with DC supply

Options:

| ® I and Il

_— I and Il

3 ® Il and Il
g 1 1land

=



Question id : 3992 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

e B % e A S w5 T 7

|) 9 | WO I T S HR IR 9 AS® S, U9 aieea] | WSEEs B SUanT SA ©

(1) IGBT v& g9 gfem = | (IGBT is a unipolar device.)
) DCH & e o9 T W07 g o | ORT 6K OeE® 99y ST €

Options:
;% landll
) | and Il
5 % lland Il
|, Il and Il
4.

Question id : 3993 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Vithich of the following devices belong to family of transistors?

Options:
1. % BIJT and IGBT
- % SCR, GTOand BJT

3 % GTO, BJT and IGBT

% SCRand IGET

Question id : 3993 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
= # 9 o[ 9 gfen gy aftar (family of transistors) @1 ©

Options:

1 v BJT and IGBT

SCR, GTO and BIT
4

« GTO, BIT and IGBT

% SCRand IGBT

I

Question id : 3994 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Identif-,f the incorrect statement regarding power MOSFET.

Options:
| % These are so constructed as to avoid punch through.

.« The channel length is relatively large and channel width is relatively small.
3 # These do not experience any minority charge carrier storage.

. @ These can be put in parallel to handle farge currents

Question id : 3994 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



sifed MOSFET & E4u 4 &1 6 99 o783 & 7

Options:

1

g T e o= g (punch through) = =@ = & o9 £1 (These are so constructed as to avoid punch through.)

Tl @ T WG w0 EE #F 9EE aiEe w0 | 5 oo ¢ (The channel length is relatively large and channel

o o width is relatively small.)

g T T ATET TEE WIUF & 7997 Fol 99 (These do not experience any minority charge carrier storage.)

., % AT a7 TN g wEeEL ® A2 @ 930 ¢ (These can be put in parallel to handle large currents)

Question id : 3995 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Why does an SCR fail to turn off even when it is in conducting mode and a reverse voltage is applied
between anode and cathode?

Options:

l

% Positive voltage is applied to the gate

- The reverse voltage is small

3 o The anode current is more than the holding current

s Turn off ime of SCR is large

Question id : 3995 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

v SCR smads (turn off) # s/ess =07 T £ 53 & an =iem =i (conducting mode) 3 & &7 mas © suE w 4
TerA dfeedl (reverse voltage) =E FET £

Options:

L

. TIE ® ue dieedl &1 73 ¢ (Positive voltage is applied to the gate)

,, @A dleedl F8 © (The reverse voltage is small)

JW_G g, @S a9 ® 2fd@ © (The anode current is more than the holding current)

o, SCR @1 &iTs w7y few T (Turn off time of SCR is large)

Question id : 3996 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A single phase half wave ac voltage controller has a resistive load R = 10 ohm and input voltage V. = 180
V', 60 Hz. The delay angle of thyristor is @=TU3. Calculate the rms output voltage.

Options:

l

L

=

% 171V
& 114V
% 125V

% 131V

Question id : 3996 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

T e B HEae THEL deced Eas (single phase half wave ac voltage controller) @ wf@=ET @ R =10 %
AR s areear Vo =180V, 60 Hz © 1 ymowex =7 faws &0 (delay angle) @=TU/3 £ | frfa 977 #egwqa 719 (rms
output) areear feae wrf ¢




Options:
| TN

L v 114V
K125V

, « 131V

Question id : 3997 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
|dentify the device which has high accuracy of compensation and noise level is very low.

Options:
| ® Synchronous condenser

® Saturable reactor
,  SCCR

% FCCR

I

Question id : 3997 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
= ¥ ¥ 5= gfam (device) #1 wfdsr #1 9= mune= (high accuracy of compensation) 2R =5 7w == (low
noise level) © 7

Options:
. Synchronous condenser

. Saturable reactor
o SCCR
“ FCCR

Question id : 3998 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
In SCR, if QHIE current is made half, how will it affect anode current?

Options:

| ® Anode current will be halved

4 Anode current will get doubled

3 Gate current have no affect on anode current

5% Anode current will become 0

Question id : 3998 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

SCR ¥ Tfg vic amer omf $2 €1 AT o UHis o9 U 94T @Y UST 7
Options:

| % T = el T Wil (Anode current will be halved)

. TS @ = A §1 w@ee (Anode current will get doubled)

v TE U W UAS G UY HI5 99 =8 9o (Gate current have no affect on anode current)

L



%

, % TS O [ =1 =T (Anode current will become 0)

Question id : 3999 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Match the following:

List I (Dewvices)

&) Triac

B) Reverse conducting thyristor
) Diac

List II (Mlonolithic construction of)

1) Two SCEs in anti parallel

2y A thyristor and a diode in anti parallel
3) Two diodes in anti parallel

Options:
e A-1,B-2, C-3

, % A2B1,C3
; % A1B3,C2

% A3,B2,C

Question id : 3999 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
foree 1 (List 1) gl

A) zrm (Triac)
B) Sors Troi® e
3) =rg% (Diac)

foree 1T (List II) waitepe =m

1) =1 SCR's ¥aim= %
2) vw umaiey R SEs uit wuw o
3) o7 STS wiY TEeR o

Options:
| v A1B2C3
- wA2,B1,C3
3' o Bl B2

% A-3,B-2,C-1

I

Question id : 4000 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

For an SCR which of the following increases when a resistor is connected across its gate and cathode?
Options:
| ® dvidt rating of SCR



. % Holding current of SCR
3 MNoise immunity of SCR

4 ® Turn off time of SCR

Question id : 4000 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
SCR # w13 1€ 3T »ure @ 4% (across) ¥ t& A=W (resistor) s Wi &, s M A v s agar £ 7

Options:
% SCR @1 dv/dt wf=eer (dv/dt rating of SCR)

il

., SCR @7 wmm =7 (Holding current of SCR)

=)

v SCR & =17 waesT (Noise immunity of SCR)

L

., 5CR #1 sigsd 999 (Turn off time of SCR)

Question id : 4001 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The average output voltage of a fly back converter is 24 V' at a resistive load of 0.8 ohm. Given duty cycle
ratio is given as @=50% and switching frequency is 1 kHz. The on state voltage drop of transistoris 1.2V
and voltage drop of diodes is 0.7 V and efficiency of conwvertor is 96%. Calculate the turn ratio of
transformer.

Options:

| % 015

@ 025

2
3 ® 0.20

w045

Question id : 4001 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
vm wfeemg aiTs (fly back converter) 7 oftee Befa gieeer 08 = ofte w8 = 24 V £ s9ofe o amme (duty
cycle ratio) @=50% =Ar Ta== argia 1 kHz £ gifaee &1 oown @ (on state) gfeear 20 1.2 V AR =02 &1 geeal
T 0.7 T Gians B gem 96% T | TIewET 1 B Ae e 5 ¢

Options:

| % 015

 » 0.25
. 0.20

0.45
4 %

Question id : 4002 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



supply

230V, ﬂ—
S0 Hz T Heater
AC @ . 100 Q

For the circuit given above, given load is 230 V, 50Hz.
Calculate the power absorbed in load for @= T/4

Options:
1. ¥ 481W
) 430.5W

s ® 410w

, % 4252W

Question id : 4002 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

o= 4 wifaw (power) @t Tromn wifse afs O= TU/4 =5
T

230V, on

50 Hz Heater

T
AC ”9 . 100
supply

Options:

1 v 481W
L4305 W

, % A10W
L« 4252w

Question id : 4003 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



Calculate the power drawn from Supply for single phase WSl phase convertor, gi‘n.ren that load current lp =
200 sin(® - 45°) mA and DC voltage supply is 220 V.

Options:
| ® 9.8W

) o 19.8W
;% 21.25W

, % 240w

Question id : 4003 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

foim o VS| wiemas 51 | © fea i o g, ofe ww g lp = 200sin(® -45°) mA £ Sid wem e
220V &)

Options:

| % 9.8W

v 19.8W
4w 27.25W

-3

" 3403 W

Question id : 4004 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
What is the reason behind considering SCR, a semi controlled device?

Options:

| SCR can be tuned ON but not OFF with a gate pulse

% SCR can only be turned ON during one half cycle of an afternating current

3 % SCR can be tuned OFF but not ON with a gate pulse

4 % SCR can only be tumed OFF during one half cycle of an alternating current

Question id : 4004 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
SCR 7= el 0@ gfem (semi controlled device) ==t w1 @t © 7
Options:
| SCR 7z w57 = wwwww ON o1 Wear © 9w OFF 71271 (SCR can be tuned ON but not OFF with a gate pulse)

SCR wemmmat e 1 ww=w (one half eycle of a.c.) % 757 (turned ON) 71 w=ar ©1 (SCR can only be turned ON
» 3 during one half cycle of an alternating current)

SCR wemmadt e #1 s==w (one half eycle of a.c.) 5 707 (turned ON) =1 w=ar ©1 (SCR can only be turned ON
;3 % during one half cycle of an alternating current)

SCR weomeer: &er @1 s @ o OFF =1 5&@ar 21 (SCR can only be turned OFF during one half cycle of an
% alternating current)

I

Question id : 4005 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
3TO is an example of

Options:

| ® A Diode



L s A Transistor
i 4 A Thyristor

4 % A Resistor

Question id : 4005 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
GTO 5= # & f5ms g © 7

Options:

| 1@t (A Diode)

» o (A Transistor)
» gty (A Thyristor)

K afeerer (A Resistor)

Question id : 4006 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
What would be the effect on conductor volume, when the voltage of transmission is increased?

Options:
1 w  ltwill increase

5 It does not change
i 4 It will decrease

4 % It increases proportionately

Question id : 4006 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

.

afg w=Rvr areear 981 W §, af did & amgeaq (volume of copper) W 1 seR we ?

Options:

| 7T 77 (It will increase)

s d% woiafad T8 (It does not change)

L-3

L@ 0% g2 (It will decrease)
a.

% @% Itincreases proportionately

=

Question id : 4007 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A 240V, 50Hz supply feeds a highly inductive load of 50 Ohm resistance at firing angle 45°.
What would be the value of load power when supply is through a thyristor full control bridge.

Options:
| ® 489 W
A @ (89W
3 ® 365 W

 466W



Question id : 4007 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
e 240V, S0Hz W9 v w== Uve 9 50 WE % 45° WO @i oY widd 9SSl ©
¥ oifa (load power) @ w°ft o wn e o Mot w9 amofiees (full control bridge) @ srom w £ 7

Options:

|« 489W

. 789W

)

;% 365W
466 W

Question id : 4008 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A 240V, 50Hz supply feeds a highly inductive load of 50 Ohm resistance at firing angle 45°.
What would be the value of load power when supply is through a thyristor half control bridge.

Options:

| = 128W

% 36TW
;¢ 512w

% 41BW

Question id : 4008 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
v% 240V, 50Hz T TF S7 990 4% 50 W FT 45° BERT B W e 9L I 8
¥R ¥ (load power) F1 Erf 3ft 99 ol Fofe g o s M@ § £ 7
Options:
. 128 W

1
% 367W

, wS12W
% 418 W

Question id : 4009 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which among the following statements is true about a 3-phase synchronous motor?

Options:

| ® The speed of stator MMF is always more than that of rotor MMF

- The speed of stator MMF is always less than that of rotor MMF

3 % The speed of stator MMF is synchronous speed while that of rotor MMF is zero

4 Rotor and stator MMF are stationary with respect to each other.

Question id : 4009 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
3 w9 goaand Ay (3-phase synchronous motor) & wag ® &7/ & ¥ 9 & &89 ¥9 © 7

Options:



=7 MMF 31 75 27 MMF 31 73 % w59 9fas =7 21 (The speed of stator MMF is always more than that
| ® of rotor MMF)

=7 MMF @1 7 =27 MMF =1 @i % w7 ¥% ot £1 The speed of stator MMF is always less than that of
7 % rotor MMF

w=ed MMF &1 e geoaiva g € o 9 MMF &1 7fa 578 €1 (The speed of stator MMF is synchronous
; # speed while that of rotor MMF is zer::-]l

¥Ew AW ®wew MMF 1% 339 @ g # ferm £ (Rotor and stator MMF are stationary with respect to each
4 other.)

Question id : 4010 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

In context of a three phase transformer, what is the angle difference between the phase voltages in
primary and secondary sides if the primary side is connected in star and secondary side is connected in
defta connection?

Options:

1. % Delta side lags by +/- 130 degree
2. %

Star side lags by +/- 145 degree

39

Dielta side leads by +/- 30 degree

4. * Star side leads by +/- 113 degree

Question id : 4010 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
UF 3 B AT O mefAE Wi TR A oR fFdns wEs o 7 g9 & 91 mEs o s AR & dee |
wa #177 3iTe (phase angle difference) f&a=1 g ?

Options:

% T 3t + -130° uem

o TR 3% + -145° 7o

' FoT AN -30 oy

L2

(%]

4 % TR AN +/ -1130

Question id : 4011 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Consider the following given figure.

Rs

WV———

R, C, +Vee
|
| o
t
Vi Ag[ /( V
g’W\/& R - _vEP 1(}

The function of R: is to




Options:
| ® Enable the circuit to approach ideal differentiator
. 3 Maintain high input impedance

3 Eliminate high frequency noise spikes

% Prevent oscillations at high frequencies

=

Question id : 4011 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Fe fm d RyFT o &7 &
R

+
- 0

Vo
Ve l
= e L

Options:
1 *

OReTe] @I MY Addels 9w+ 1 ®Word® o | (Enable the circuit to approach ideal differentiator)

.y FUF 9y wfeEmEn 9 7@ | (Maintain high input impedance)

o Frgd TR WiEe 2¢ 9| (Eliminate high frequency noise spikes)

L

o ST G W Ter =& | (Prevent oscillations at high frequencies)

Question id : 4012 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A 250V dc shunt motor has Rs = 125 Ohm & Ra; = 0.5 Ohm. The motor operates on no load with full field
flux at rated speed of 1000 rpm with [a = 5A. The motor drives a load torque of 100 Nm. Neglecting
saturation and armature reaction, the armature current of the motor will be:

Options:

| % 402 A

J‘ 42.2 A

s % 443A

% 465A

Question id : 4012 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

TE 250V dc ¥€ 52X @ Ry = 125 Ohm 3R R, = 0.5 3™ £

770 ¥ (no load) 78 9 geew ¥ ©ifgT Tt 1000 rpm OX TR £ &% |, = 5A £
AeY TR WX goee 100 Nm T sF=w @7 @ex current o som?

[Fafar (saturation) d= smiTR wihma @ ©F 5

Options:



40.2 A
#®

s 422

L3

% 3A
% 46.5A

I

Question id : 4013 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A 400kVA, 11KV Star-connected alternator has resistance of 5 Ohm per phase. At half load, short circuit
load loss will be:

Options:
| ® 4958 7W

) 1652.9W

5 % 5509w
, % 20826W

Question id : 4013 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

7% 400kVA, 11kV = wmamass (Star-connected alternator) &1 gfw= sfewr (per phase resistance) 5 Ohm £
A ¥ T ey v (short circuit load loss) fres = 7

Options:
| %4958 7W

| »1652.9W

5 % 550.9W
% 2582.6W

I

Question id : 4014 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

An alternator A is connected to bus bar and another alternator B supplies its own constant impedance
load. If field excitation is changed, then :
(where pf represents power factor)

Options:

| % pf of both A and B changes

i pf of A changes but pf of B remains unchanged

3 % armature current of both A and B changes

5 ferminal voltage of both A and B remains constant

I

Question id : 4014 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Tw e d A 7 (bus bar) ¥ 997 €| 559 vmmaw B @ faw ofgemer w9 (constant impedance load) &
U=y T © | ofF 6= g (field excitation) ofiefda fear @ &1 7

Options:

oo

. 8M1 A 3" B F7 wifgw ons wiHatas 80| (pf of both A and B changes)

1.

- A @t pf oRafifs g ovg B @7 pf sofafds w27 (pf of A changes but pf of B remains unchanged)

&



~, ST @1 SEER e a=er | (armature current of both A and B changes)
a.

4 % S W T Tel @resal amigiea wee | (terminal voltage of both A and B remains constant)

Question id : 4015 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
SCR is a switch of which of the following kinds?

Options:

| DC switch

. 5 AC switch
3 W® SCIUETE wave switch

% Rectangular wave switch

Question id : 4015 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
SCR &g uam @1 fRg= § °
Options:

| s fig= (DC switch)

« @ = (AC switch)
S, ® ™ @0 @™ (Square wave switch)

¢ TTEAEI =37 7= (Rectangular wave switch)

Question id : 4016 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which of the fDIlﬂ'u"-'iI'lg conditions must be used for auoiding local hot SpUTS in SCR?

Options:

| % Applying a reverse voltage across SCR

T4 Applying anode current below holding current

5, Using low (di/dit) value

s Applying higher gate current during turn on time

e

Question id : 4016 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
SCR # w=irg wweera (local hot spots) T2 & forv 7797 7 & 397 s/ 9= OTe FHer 9mey 7

Options:

. SCR & BRI W ¥opd dicear @ (Applying a reverse voltage across SCR)

o TND U W FA T G o (Applying anode current below holding current)

L2

o, @4 (di/dt) =1 =1 gwmr (Using low (di/dt) value)

., TaeTe wY Ao e g = (Applying higher gate current during turn on time)

Question id : 4017 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



Among the following which is/are the base load power station/plant?

1. Hydroelectric

2. Biogas

3. Diesel

4. Pumped storage

Options:
R4 Only 1,23

. % Only4
3 % Only 4.3

, % Ony12

Question id : 4017 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
7 # ¥ 217 g ¥ oe? =u7 (base load power station) © 7
1. zsgEefdg® (Hydroelectric)
2. 91oriF (Biogas)
3. =tww (Diesel)
4,77 w=rw (Pumped storage)
Options:
. ﬁ?Dnly 1,2,3

. Only4
% Only 4,3
% Only 1,2

Question id : 4018 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
What will be the frequency of rotor current at full load {230V, 4-pole, 60 Hz, 3-phase, 20 hp)?

Options:

| ® 24 Hz

-~ % 32Hz
3 ¥ 36Hz

% 42Hz

Question id : 4018 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
3 W 20 hp, 60 HZ,230V, 4 Ui 7723 & U7 AR WY ¥S¥ 9N 9 G @491 s 7

Options:
| % 24Hz
% 32Hz
»36Hz

« 42Hz



Question id : 4019 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Vhich of the following statements is comect for a single phase Hysteresis motor?

Options:
| ® It can run at synchronous and sub synchronous speed

. s Itcanrun at sub synchronous speed only
. s Itcan run at synchronous and super synchronous speed
a.

4 e It can run at synchronous speed only

Question id : 4019 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

UdHel Bol fewerrad A (Hysteresis motor) & w3y & &9 97 99 Wal © 7

Options:
| % T geaEifers WiN 99 geoslas T ¥ F9 9% € (It can run at synchronous and sub synchronous speed)

o T Hael B9 Qeddlod o w = ¥l © (It can run at sub synchronous speed only)

; % TF TeUEeTE W wfe geawiies v W 9@ "@ear ¢ (It can run at synchronous and super synchronous speed)

v, 9% $ad goadiod g ¥ I @&l © (It can run at synchronous speed only)

Question id : 4020 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Which of the following options represents change and control voltage magnitude and frequency both?
Options:
| ® Dc-dc conversion

L s Ac-dc rectification

3 ® Dc-ac inversion
« Ac-ac cycloconversion
Question id : 4020 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

=1 % % == aivaes @ U= aeear e (magnitude) @9 s =91 @ g @90 © ¢ (Which of the
following options represents change and control voltage magnitude and frequency hoth?)

Options:

| % Dc-dc of¥ae= (De-de conversion)

s Ac-dc fem=aar (Ac-dc rectification)

. Dc-dc =ga&=mr (De-ac inversion)

L

< Ac-dc ==riaww (Ac-ac cycloconversion)

Question id : 4021 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

In which of the following devices sinusoid of controllable magnitude and frequency is produced?
Options:
| 5 Dc-dc conversion



5 Ac-dc rectification
3 Dc-ac inversion

# Ac-ac cycloconversion

e

Question id : 4021 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

= # & Tww Tofae i s s (controllable magnitude and frequency) @1 = 7% (sinusoid) S=es &
Hadl &7
Options:

| % Dc-dc o¥ae= (De-de conversion)
o, Ac-dc fe==iar (Ac-de rectification)
L Dc-dc =ga®#e (De-ac inversion)

. Ac-dc =z (Ac-ac cycloconversion)

Question id : 4022 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

What would be the sensitivity of an ammeter, which requires a change of 3A in its coil to produce a
change in deflection of the pointer by 6mm?

Options:

| % D4mmA

% 0A4AMM

3 & 2mmiA

% 2 AMmm

Question id : 4022 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

TF es F gUEE (sensitivity) e BT ot TS g3 ¥ 3A g & ofveds 6mm e (deflection) T
T B

Options:
| % 0.4 mm/A

, 04 A/mm

L v 2 mm/A
% 2 A/mm

Question id : 4023 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Identify the unipolar device among the following.

Options:

| ® P-N junction diode

% Zener diode

5 ® Tunnel diode

R Schottky diode



Question id : 4023 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
7 § & & U$ garg g (unipolar device) T 7

Options:

| % P-Njunction diode

. Zener diode

3 ® Tunnel diode

» Schottky diode

=

Question id : 4024 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Internal device capacitances become more prominent in

Options:

| % DC operation

. o High frequency region
. g Lowfrequency region
J.

4y AGC operation

Question id : 4024 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

aae giew enfvar 79 # ¥ &9 afos 99@ (prominent) & 9T € 7
Options:

| ® 2191 w=e 7 (DC operation)

v I=7 g &= ¥ (High frequency region)

=

& Fr= amgfr #51 F (Low frequency region)

L

L% T wme | (AC operation)

Question id : 4025 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A DC to DC chopper operates at 48 V source with a resistive load of 24 Ohm. If the chopper frequency is
250Hz, what would be the value of rms current when T,.= 3ms?

Options:

| % 1.77mA

x 177A

% 1.73mA

w 1.F3 A

Question id : 4025Que£t|on Type: MCQ (Correct+10 Wrong - 0.25)
7w DO DCL.- Lcimpper} A8V wiw | wanfea wem & | wemenese w24 Ohm £ ofE sioafis <6 amgfe
250Hz © = TD,,— 3ms T T TEEEeEm G (rms value of current) = = F= BT 7

Options:



 177mA

L L77A

1.73 mA
®

L

v 1.73 A

Question id : 4026 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A Tull-wave fully controlled bridge with a highly inductive load and a resistance of 55 Ohm, is operated at a
supply of 110V at 50Hz. What would be the load power for a firing angle a=75°?

Options:
| 10.9W

L ox 99W

. x 88W

4 % 7.8W

Question id : 4026 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
s oot 79w g e W (full-wave fully controlled bridge) = =3 w50 w1 (highly inductive load) 7= wfEmT 55
M & oz 110V, S0Hz w9 | w=nferg &) Safin o o=75" = 7 9% (load power) =om Brft 7

Options:
v 109 W

L x 99W
;% 88W
w 78W

Question id : 4027 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Slip of an induction machine is 0.04 and the stator supply frequency is 150 Hz. What will be the frequency
of the rotor induced emf?

Options:

| % 006Hz

4 6 Hz
% 16Hz

® 4 Hz

Question id : 4027 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
T uvelt Aew & fawdr (Slip) 0.04 @i wew amgfy 150 Hz © ) iex uia SUAs. $1 angly e ot 7

Options:

0.06 Hz
| ®

6 Hz
i

4.



, % 16Hz

. ® 4 Hz

Question id : 4028 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
A series dissipative requlator is a type of

Options:
| ® Linear regulator

. Switching reguiator
5 % Shuntregulator

s DC-to-DC converter

Question id : 4028 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

s it &t FoFs (series dissipative regulator) T% &R &1 ®T §
Options:

| » Linear regulator

) ﬁ?Swuchmg regulator

% Shunt regulator

, ® DC-to-DC converter

Question id : 4029 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Find out the fundamental period of discrete-time signal x (n) = (-1)".

Options:
1. ¢ 2

L2
4
£ =

L

Question id : 4029 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
srHeT wwa Eaa (discrete-time signal) x (n) = (-1)" &7 57 @ (fundamental period) fa=r &rm 7

Options:
L v 2

e B

L

4
¥
3

na
%

Question id : 4030 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



1 |e|<50

H{jo)=

(ie) {u @| > 50 _ _ _ _

A filter has frequency response - When input to this filter is x(t) with fundamental
frequency wyradians/sec and Fourier series coefficient X(K), itis found v(t) = x({t) for all x{t). Find the
largest K for which X(K) is non-zero.

Options:
| ® 9

~ 3 90
3¢ 6

4 % 8

Question id : 4030 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

- 1 |o|<50
H (]n) =
. ) 0 |o|>50 ‘
uF fheey =) wgls i T 3% e w1 few x(t) €1 59 ol woradians/sec 3R
wie #it onwE (Fourier series coefficient X(k) §1 x(t) & 5 =7t & fomw y(t) = x(t) £
k =7 wfErmas = e 5 ® @@ o res e X(k) @ 9 (non-zero) T Y

Options:

1.%5

'1_%50

6
39

4% 8

Question id : 4031 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A function f(t) has cosine terms and only odd harmonics in its frequency spectrum. The waveform of f{t) for
t =0 to T/4 is given. Construct f(t) for a period T.

At
A ———

/l

| |
] E

T/4

Options:

T

k

T2

=

| -]

Ga 7

— a4 \
- i



T
T/4 3

o
-
—_—{ N -

nlﬁl7

Question id : 4031 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Tw waw (function) & smafE w=Es (frequency spectrum) % &0 12 (cosine terms) T Fa fiws w9121 (odd
harmonics) 21 flt) m T w7 t=0 B T4 55 &w £
amd T & fere f{t) = grm 7

At
A — —
I
|
| «
T/4 "
Options:
1)
T2 /':
| T 1
T/a | 3T
| % 4
s
)
37
! 4
T/4 '_I‘_\{/T K
7 ® =
M(®)

T \
Ti4 3
=3




4 %

Question id : 4032 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

A point has been placed inside in the plane, as shown in figure below
The plot of the complex numbery = 1/z is

Im Junit circle

¢
N

Re
Options:
Im i;}circle
N/ Re
| ®
Im | unit circle
\ / Re
Y T
- B

Im |unit circle
AR
k—/ Re




Im

X

unit circle

e

4.

J Re
Y.

Question id : 4032 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

fer 9 =uiq ¢ 9% @ WAoo (plane) ¥ e fag w@n wan o
wiHs wEm (complex number) &7 amerE= (plot) y=1/z 7o ¢ 7

u

nit circle

-~
e

Options:

Im

B
v

Re

unit circle

\<

Re

Y./

unit circle




unit circle

I;
\_|_/ Rre

4 V.

Question id : 4033 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Choose the equivalent transfer function, if the blocks having following transfer functions are cascaded.

G1(s) = 1/(s+2), G2(s) = 1/(5+5), G3(s) = (5+1)/(5+3)
Options:
| ® (s*+10s°+375°+31)/(5+2)(5+3)(5+5)

1 o (s+1)/(s+2)(s+3)(s+5)
3 ® - (574105 +37s +31)/(5+2)(5+3)(3+5)
s - (5+1)(s+2)(s+3)(5+3)

Question id : 4033 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
% wEgs wmem (transfer function) & == (blocks) @@ (cascaded) &7, & gew sata me= (equivalent
transfer functions) &= % ¥ = =/
G1(s) = 1/(s+2), G2(s) = 1/(s+5), G3(s) = (s+1)/(s+3)

Options:

% (s"+10s°+3757431)/(s+2)(s+3)(s+5)
_${s+l}f{5+2]{5+3}{5+5}

, % - (s7+105°43757431)/(5+2)(s+3)(s+5)
'« - (s+1)/(s+2)(s+3)(s+5)

e

Question id : 4034 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Consider the following statements regarding a linear discrete-time system

H(z)= 22+ 1/[(z+0.5) (z-0.5)]
1. The system is stable
2. The initial value h(0) of the impulse response is -4

3. The steady - state output is zero for a sinusoidal discrete-time input of frequency equal o one-fourth the
sampling frequency
Which of these statements is/are correct?

Options:

| % 1.2and3

. s land?2

K 1and 3

% 2and3



Question id : 4034 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Tigw, aEas w9a 7= (linear discrete-time system) & Wag & &9 W 97 W0 5 0
H{z)= 2°+1/[(240.5) (z-0.5)]
1. &= vt £ (The system is stable)
2, AT ST F 9IRS " -4 ¥ 1 (The initial value h(0) of the impulse response is -4)
3. T oreTe WRa rew ot ofaews Ay #9114 © o wwe flew fufy et w21 (The steady - state output
is zero for a sinusoidal discrete-time input of frequency equal to one-fourth the sampling frequency)

Options:
| % 1,2and3
N wland2

jlglandE
% 2and3

I

Question id : 4035 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

AV}

350 l]'._ﬁ!! i
’ | pal, ‘ ‘ s s —AAN— SO0
n [-= i X 3w 1
1-23 /:u}\\
N
fa) (b}

Figure (a) is the voltage transform applied to the circuit diagram shown in figure (b).
Find out the third harmonic component of voltage signal.

Options:
" (100/31) sin 3t

% (100/6TT) sin 3t

-2

s (100/47T) sin 4t

s« (100/6m) sin 9t

Question id : 4035 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

avir) 280} 05H iy

’—‘ e e AN (1]

J' b1 - 0 [ T

—-25

i) |}

_/

(a) ib)

o (a) = (b) A fawamy 7 B &1 diccor TEORU £ | gieeol W & qarg s e ged (third harmonic
component) FI7 BT 7

Options:

 (100/370) sin 3t
. (100/6TT) sin 3t

.. (100/4T) sin 4t

(W]



, % (100/6TT) sin 9t

Question id : 4036 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

From the options given below, which of the one is correct Laplace transform of the signal
s=x(t) = e u(t) - e_bt u(-t)?

Options:

| ® Li{s) = (s+a+b)is+a)(s+b)
" Li{s) = (2s+a+b)/(s+a)(s+h)

s« L(S)=(2s+a+b)(s-a)(s+h)

L

g % Lis) = (s+a+b)/(s-a)(s-b)

Question id : 4036 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
; -at -ot ; 2 & -y
wod s=x(t) =e” u(t) - e u(-t) T FE AE T BE G L

Options:
| % L(s) = (s+ath)/(s+a)(s+b)

wLs) = (2s+a+b)/(s+a)(s+b)
. 5 L(s) =(2s+a+b)/(s-a)(sth)

L-2

, % L(s) = (s+a+b)/(s-a)(s-b)

Question id : 4037 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which of the following option will be Z transform of signal z = x(n) = n2" sin (Ttn/2) u(n)?

Options:

| % 27/(z°+4)

2 % 2Z(Z+4)

3 2z(z-4)(Zz +4)

w 270(Z°+4)

Question id : 4037 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
1 % % F9 z =x(n) = n2" sin (Mn/2) u(n) T ZFo=90 F07 2007 7

Options:
| = 22/(z°+4)

% 2z/(£+4)°
s 22(27-8)/(°+4)

-2

2 2
, £ 22/12°+4)

Question id : 4038 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



Which of the following options is true if discrete LTI system is represented by impulse response hn] =
(1/2)" un]?

Options:
1 « The system is causal and stable.

- % The sysiem is non-causal and stable.

3 ® The system is causal and unstable.

4 ® The system is non-causal and unstable.

Question id : 4038 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

afg awee LTI &= 2 s afear (impulse response) h[n] = (1/2)" u[n] g w=ffa @ 2 =
Options:
| o T PRUTHS @i v T (The system is causal and stable.)

, T STHOIE 3R wET © (The system is non-causal and stable.)

.
5 % OF PRUTHS AW ey © (The system is causal and unstable.)

., T PSS A werd € (The system is non-causal and unstable. )
4

Question id : 4039 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

From the diagram given below, which one of the options given below is the value of impulse response of
the RL circuit?

L
— T

+
+

(1) n% )

x(t) mi)

Options:
L v (R e u(y)

(LR ™ u(y
x (R/L) e u(t)

o (™ Ty

Lsd

Question id : 4039 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



&y 7w &9 @ ¥4 F RL ofow 3 o= o omw afsa (impulse response) &7 =19 W §

L

O - £

+4

+*

(1) ng i

-

0

x(t) w1

—_— H{l) p——

Options:
L v (R e u(y)

s« (LR) e ()

=

, = (R/L) e u(y)

. wil e ™ y(t)

Question id : 4040 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

From the circuit given below, which of the given option is the value of current ift) for t 20
A

:Pfc A

:!_ =0
c, T ’@ =—=C;

Assumptions:

i) The circuit is closed at t=0;

i) C1 is charged to vo and the capacitor Cz is not charged
i) C1=Cz2=C;

Options:
L v (vo/R) €™, £ 20

% (vo/R) e, 120
5 % (vo/R) S

L3

4w (Vo/R) ™R 120

Question id : 4040 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



Fumr i e EfmAdg SR am i) 120 o as g ?
A

:?;c MWV
t=0
- i, '@ ==

i) T gftoy 1=0 © 9= @ S € (The circuit is closed at t=0;)
ii) C, ¥ v, @ =% 5w o § o G, =1w =81 fFr =i €1 (C, is charged to v, and the capacitor C, is not
charged)
i) C,=C,=C;
Options:
-2%/RC
L @ (vo/R) &%, t20

) % (vo/R) €™, 120
% (vo/R) etmc; t20

Lsd

. (Vo/R) €™, 120

Question id : 4041 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which of the following option is true, if input output relation of a continucus time system is given as:

j‘t +T/2
t-T/2
y(t) = Tt} = 1T X(T)dT

Options:
1 w The S'y'StEfTI is linear, time-invariant and casual

~ # The system is non-inear, time-invariant and casual

3 The system is linear, time-invariant and non-casual

s The system is non-linear, time-invariant and non-casual

Question id : 4041 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
TE HWoaw §99 ©9 (continuous time system) #71 799 &R (input output) F9e T |

J-t +T/2
t-T/2
y(t) = Tix(t)} = 1/T x(T)dT

IR L B - BT = e b s roa g A
Options:

M Jfig®, w0 =7 o) FeomeEs ¢ (The system is linear, time-invariant and casual)
I

5 7 T, WRY M=R R seemess § 1 (The system is non-linear, time-invariant and casual)

. 07 IE, T FER oY denmeE 81 (The system is linear, time-invariant and non-casual)
a.

4 ® TF W, wEG =R 9N ymremes 1| (The system is non-linear, time-invariant and non-casual)




Question id : 4042 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Match the following:

List I

AN -Ti-H=0
B)fit) +1f(-t)=0
Cifity-ft-Ti2)=0
Dyfity +fit-Ti2)=0
List Il

P) Even harmonic can exist

) Odd harmonic can exist

R) The DC and cosine terms can exist
S) Sine terms can exist

Options:

| ® AP.BQCRDS

. A-S BQ CR DP
; ¢ AR,BS CP,DQ

g % A-P B-R, C-Q, D-5

Question id : 4042 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
=/ @1 e w9 (Match the following) -
[e1+2 T (List I):
A)f(t) f(t)=0
B) f(t) +f(-t) =0
C) f(t)-f(t-T/2) =0
D) f(t) +f(t T/2)=0
feree 1L (List 11):
P) == ==t ¥¢ == © (Even harmonic can exisl)
Q) 7= T4 78 54 © (0Odd harmonic can exist)
R) 2191 3" e ¥ 78 W&a © (The DC and cosine terms can exist)
S) = W ¥E "ol © (Sine lernms can exisl)

Options:
< A-P, B-Q, C-R, D-S

. AS,B-Q, C-R, D-P
AR, BS,C-P,D-Q
& A-P,BR,C-Q, DS

l

Question id : 4043 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Given Cis) = Ais) . B(s)
where A(s) is Laplace transform of ait),
Bi(s) is Laplace transform of b{t) and

C(s) is Laplace transform of c(t)
Which of the following options is correct?

Options:
| ® c=(@.b)

) o Cit) = J?{T]g{t—‘[}dt within limits 0 to t



3 % o= (@+ b))
, % Ct=aoe)

Question id : 4043 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
e € C(s) = A(s) . B(s)
A(s)= a(t) 7 =rmems w9 | (A(s) is Laplace transform of a(t),)
B(s)= b(t) = =m=ms Fwe=w | B(s) is Laplace transform of b(t) and
C(s)= c(t) =1 mmems s | C(s) is Laplace transform of c(t)
e dgamEt?

Options:

L St =(a. b)Y

o clt)= ‘[ f(T)g(t-T)dT within limits O to t
eclt)=(a+b))

. ® cft) = a(t).b(t)

Question id : 4044 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Which of the fDIID'u"-'iI‘IQ statements are true?
A)B(2t) = 28(t)
B) &[2n] = &]n]
C)8)=-6()

Options:

| % A BandC

- o BandC

3 % Aand C

4 % Aand B
Question id : 4044 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
o § 9§ &9 W ST HE © 7
A) 8 (2t) = 28 (1)
B)®[2n] =8n]
Ad(t=8n

Options:
« A BandC
l.

:.ﬁ?B and C
;% Aand C

J

A «AandB

Question id : 4045 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



A transfer function H[S]I ofa System is Qi‘u’EI’I ds:
H(s) = (3s” -2)/(s’+35+2)
Determine the SIED response of the system.

Options:

-2t -t
. &?c{t} =5e -e -1
. c(t)=38(1)-10e™ +e”

;% c(t)=4e™-e™ -1

| x S0)=2(1- e’

Question id : 4045 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
TF 79 T wavs He (transfer function) H(s) = (3s” -2)/(s’+3s+2) £ |
7 & & W= oAl (step response) FaT © 7
Options:
cft)=5e"-e"-1
1

L c(t)=38(t)-10e™ +e”

t

e clf)= 4e*- e -1

, x C(0=20- e’

Question id : 4046 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

For a continuous-time system,

d y(tydt + ay(t) = x(t)

where x(t) = input,

yit) = output and

a is constant

Also it is given that y(0) = yp and x{t) = Ke'mu{t}
Which of the following options is true?

Options:
| Y= yoe ™ t<0
% Y()=ye” . t<0
% y()=yeet.t<0
. ® y(t)=yoe™ t>0
Question id : 4046 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
wem w77 d y(t)/dt + ay(t) = x(t) & g fe § @ 59w g 2
x(t) = 3w (input), y(t) = &7 (output), a = fews 3= y(0) =y, and x(t) = Ke ™u(t)
Options:

. o ?{t} = ".l'rt‘re-at

,t<0
1

7 k" v[t}:yceatrt{{]
% y(t)=yee",t<0

(]



t

y(t) =yee™,t>0
w

4.

Question id : 4047 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
For the given figure, which of the following options is correct input output equation?

A S -~ UL
> N/ [ E> Py

+

i} Unit
2 delay

-

Options:
| % Y] =xin] + x|n-1]

1 B 2y[n] = 4x[n] + 3x[n-1]

(W]

 2yIn] - y[n-1] = 4x[n] + 2x{n-1]

s ¥In]-y[n-1] = 4x[n] + 2x[n-1]

I

Question id : 4047 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
fgr 77 &= # ¥9 @ 9w Rt 999w (input output equation) wE £ 7

o S o 2 o)
e 1 5 ot
+ +
i ) Unit
1 delay
Options:

% Y[n] = x[n] +x[n-1]
% 2y[n] = 4x[n] + 3x[n-1]

l

"l

s gZ'-,r[n] -y[n-1] = 4x[n] + 2x[n-1]

% yIn] - y[n-1] = 4x[n] + 2x[n-1]

I

Question id : 4048 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Evaluate the given integral equation by using Laplace transform.

T

yiti=e1+ ¥ € y(T)dT ], within limits 0 to t, t=0

Options:
% ylib=e t=20

. o Yi)=e® t20
®% y(t)=e t=0

, Y= e t=p
4,



Question id : 4048 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
& T e FHEIe @ s muee (Laplace transform) @ S9OTT v gemeE o9 |

y(t)=e[1+ j & y(T) dT ], within limits 0 to t, t =0
Options:
1 e y(t}: =

-2t
2%

, 1220
L Y(t=e", t20

% y(t)=e', t20
(t)=e™, t =0

Lsd

4 %Y

General Awareness

Section type : Online |Number of Questionsto be attempted:20 [Mandatory or Optional: Mandatory

| sub-Section : 1 | Question Shuffling Allowed : Yes

Question id : 4049 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The MNobel Prize is awarded in which of the following disciplines?
I Physics and Chemistry

II. Physiology or Medicine

III. Literature, Peace and Economics

Options:

L ¥ 1&11

2% &I

3% oyl

4 ¥ AT I & 111

Question id : 4049 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
reteT e TR # @ e Rt Ry st 22

1. AT 3 TR T

11. s T feermer ot Rifdrear e

111. |TfEe, aia afT amefamer

Options:

I ® 1&I1I

2% &I

3% oyl

4. % AT T & 111

Question id : 4050 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
In India, every year January 15 is celebrated as

Options:

1. ® Fepublic Day

1 % Population Day



-

3. # Teachers' Day
4. & Ariny Diay

Question id : 4050 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
IRT A Wede af 15 FAAaer AT AT &

Options:

1. % ey e F e H
2. g fEeg e o
3. ® 13w Teg e #
4 ¥ T I e A

Question id : 4051 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
What was the first ARPAMNET message?

Options:

1, ¥ g

2. % "ello world"

S.WII

4. %

mary had a lttle lamb"

cyberspace, the final frontier"

Question id : 4051 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
T 3RO ARPANET) Haar &7 917

Options:

1. ¥

P

4 "HTZaT TUT | 3 RIS W iwd I

Question id : 4052 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Some lasers are referred as 'cw', what does "cw" mean?

Options:

1. ¥ Circular wave

2. # Constant white

3. % Contimious wave

4. % (Clear white

Question id : 4052 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

T olol ] I HZeo T (cw) & AT 8 AT AT 8, “Higery @7 27 T2 87
Options:

1. ® e o

3. ¥ wirgeE

R g e

)

I

Question id : 4053 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which was an early mamnframe computer?

Options:

1. ¥ ENIAC



1 ¥ UNIC
3. % BRAINIA
4 ® FUNTRIA

Question id : 4053 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
AR AR BICET i &7 7

Options:

1. ¥ ENIAC

2. % UNIC

3. % BRAINIA

4. ¥ FUNTRIA

Question id : 4054 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Study of life in outer space is

Options:

1. ® Entrobiology

2 % Endobiology

3. ¥ Exobiology

4 ® Meobiology

Question id : 4054 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
ATE] ST e H e @7 3redgaq &

Options:

1. % g

2. % geEtETieE

3. ¥ ueEtETETET

4. % e

Question id : 4055 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
In the year 1815, the Battle of Waterloo was fought between
Options:

1. ¥ Britain and France

~

2 % Japan and China
3. *® Austria and Russia

4. ® Pritain and Germarny

Question id : 4055 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
T 1815 H, AT BT I AST 2T

Options:

1. ¥ T ST e o e

2% O I =i # e

3. % gfieza o EE o

4 % T o ST @ e

Question id : 4056 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Which 15 the longest Fiver in the World?
Options:



1. ¥ Nile

2. # Thames
3 % Ganges
4 % Pailal

Question id : 4056 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Torar & T AT AT A 27

Options:

1. ¥ i

Question id : 4057 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Who 15 the first Indian woman to win an Asian Games gold in 400m run?
Options:

1. ® ML Valsamma

2. % P.TUsha

3¢ Eamaljit Sandhu

4 *® ¥ Malleshwari

Question id : 4057 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

400 Hiee A § gl Get # €t uae e are wHH R AR 6 27
Options:

1. * Umue aeamT

2. % drargu

3. & e T

4. ® F Aloorair

Question id : 4058 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
What is the middle name of cricketer Ralwl Dravid?

Options:

1. % Naren

2. ¥ Sharad

3. * Srivatsav

4 ® mlryaim

Question id : 4058 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
TeReet Tgel gicis i Hed AW 4T g ?

Options:

1% 3

1V I

3. % sfigre

4. % m

Question id : 4059 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



With the launch of GSAT-14, India has become a member of cryogenic club. Which of the following countries 15 not a member of
this club?

Options:

1. ® France
2. % China
3¢ G ermany

4, ® Japan

Question id : 4059 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

ST - 14 3 TETT & T BT W W ol (-1eh Fotel T U T2€ o T 51 THTorad # & @1 97 387 56 Told @ Uh 926 761 27
Options:

1% m

2% i

3. ¥ i

4. % FmE

Question id : 4060 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
supercomputer PARAN YUWVA-IT has been developed by which organization in India?
Options:

1. ® ISRO

2. % DRDO

3. ¥ Center for Development of Advanced Computing

4 % £z10

Question id : 4060 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
AT H ULt IR Jar - 11 Tore dma g Terep e o mam 27

Options:

1. % ISRO

2. % DRDO

3. ¥ o g e de
4. % Cs10

Question id : 4061 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The Planning Comumission decides the poverty line on the basis of methodology developed by an expert group headed by
Options:

1. ® P. Chidambaran

2. ¥ Suresh Tendullear

*® Vijay Kellear

. % Montele singh Ahhraalia

L

I

Question id : 4061 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

AT AT TR &1 ST alel Ueh 1ol 90 HHE ST (e e i Uegrd & SATEMT UX TCIel {@T T Terfeor shedT g7
Options:

1. % 0t Ry

2. ¢ gra dgaa

3. ® Toe Bt

4 % gicre RE sEeETo




Question id : 4062 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The calculation of poverty line by the planning conumission 15 done on the basts of
Options:

1. % per Capita Caloric Consumption

2. % per Capita [ncome

3 ¥ per Capita Consumption Ezpenditure

4. % Per Capita Carosine Consumption

Question id : 4062 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
TS ST ETET T elT ST & T 70T Toiiend & T o & <1 &
Options:

1. * UiF = S deret

2. % qiF etk T

3. ¥ Ut =ik | =

4 ® i ol e 6 Ed

Question id : 4063 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

The Government of India has recently launched a new programume NMUHM. What is the full form of WMUHLMT
Options:

1. % National Urban Health Mission

2. % National Universal Health Mission

3. * National Urban Higlwray Mlission

4. ® National United Harmomy MWission

Question id : 4063 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

AT TR = Tl 51 H e 7207 STiepd UA0arnd (NUHM) 8% TR 21 Taaue s (NUHN @7 9T =T & 3 7
Options:

1. & TP g wemen T (HEe ST e e

2. % [ arEndiTHe TETe T (S99 e ae T
3. % [P S T T (T S ETed e

4. % TET T A I (FITA JATGES GHIAT )

Question id : 4064 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
O the banles of which river 15 the city Kathmandu located?
Options:

2 % Saptaloost

Arun

)

3 v Bagmati
4 * Sunkosi

Question id : 4064 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
e a1 & T I PR HIS A5 F T g 7

Options:

1. % s

2. % gaEET

3. ¥ gt



4 ® gamrdt

Question id : 4065 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Ethiopia lies in the:

Options:

1. % Horn of Affica

2 % Central Africa

E Cape of Africa
4. # Central highlands of Africa

Question id : 4065 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
ST Wigd &

Options:

1. ¥ anbier & dim &

2. ® mey ek #

. % afTT s

4, % 3TFTeRT & We Uefd 1 ST A

(W]

Question id : 4066 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Which one of the following awards for best film 15 awarded to the mowvie "12 YVears A Slave"?
Options:

1. ® Palm D'or

2. # Filmfare

3 % European film award

4 ¥ BAFTA

Question id : 4066 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Terdg e o Tolg T ieiiad Qeenml o & @i |7 QUEd "12 538 I Eaid” T Hg e mam &7
Options:

1. ® man

2. % TRt

3. % IR Then e
4. ¢ TR

Question id : 4067 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Sildeim has been declared the best state in the implementation of which ldnd of tourism projects?
Options:

1. % Rural Tourism

2. ® Urban tourism

3. ® Medical Tourism

4 % Hill Tourism

Question id : 4067 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Tarfgm o o bt ufes it @ Rhaaad & oy |dee v i e g 7
Options:

1. & T refes

2% aET Teed



3. ¥ Rifredr gded
4. ® ygrEy e

Question id : 4068 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

According to 2011 Census, the cluld sex ratio in India has dropped to its lowest value since Independence. What is that lowest
value?

Options:
1. % 033
2. ¥ 014
3 % 361
4. % ogp

Question id : 4068 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

2011 T STOTT & STJET, IR H eTgl @7 eTguTd T STTa & e1g § 31el deh o Herel HH 71 0T Tgal 17 5. ~AqH A
FATE T

Options:
1. % 033
2 ¥ 014
3. % 351
4. % 03p
Reasoning
Section type : Online Number of Questions to be attempted:14 |Mandatory or Optional: Mandatory
| Sub-Section : 1 | Question Shuffling Allowed : Yes |

Question id : 4069 Question Type: COMPREHENSION (Correct + 0.0)

Passage: In the given question, you are given a set of two related words, followed by a third word and four answer choices. Of

the four choices, you must identify the one that would best complete the second set so that it expresses the same relationship as
the first set.

Sub questions

Sub-question id - 4070 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Watch : Television :: Fead : 7

Options:

1. ¥ Book

1 % Andio

3. % Viden

4. % Vigual

Sub-question id - 4071 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Ly : Flower : Slounle : 7

Options:

] ® Bag

2. # Platform

3. % City

4, ¥ Mammal



Question id : 4069 Question Type: COMPREHENSION (Correct + 0.0)

Aqeie, TaToiTad wat , et 2 Heted Seal O U € TodT T ¢ et aig U o (T Seg, 3¢ I deiedd 3a€ gl I
Terepwll # ®, SN0 36 Telehet @1 UgeiT =T GoT §2 01 58 W QLT LT 1o g W He o TH 51 Herel o Dl

Sub questions

Sub-question id - 4070 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

%(@?T:Eﬁﬂﬁﬁi:r::m:?
Options:

. ¢ T

1% T

4. % g

Sub-question id - 4071 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
FHTEAT : e - TEhep: 7
Options:

1 % o

1% =

3% aEe

4. % FauTt

Question id : 4072 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

If in a certain code language MEAL is written as $E*@ and SAFE is written as (*#E, FAME then in that code language is written
as:

Options:

1 ¥ #4E
2% @
3% @E
4. ® E@*+

Question id : 4072 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Te AT e 9T # MEAL T $E*@ Torar SmaT & ofT SAFE & (*#Eorar SI1aT 2, Te 39 wT # FAME &7 Torar <maT &
Options:

1 ¥ #4E

2% @

3% +@E

4. % E@*+

Question id : 4073 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Ifin a certain code language OVER is written as PWFSQ) and BARE is written as CBSFD, OPEM then in that code language is
written as:

Options:

1. % PQFOM
2. % NODMO
3. % PQFOO
4. ¥ POFMM

Question id : 4073 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
TeF e fe AT # QVER @ PWFSQ Toam T ¢ 3T BARE @1 CBSFD o T AT 7, @ 36 97 § OPEN & foiar ST &:
Options:



1. % PQFOM
2. ® NODMO
3. ® PQFOO
4. % POFMM

Question id : 4074 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Ifin a certain code language TYPEWRITEER. 15 written as GBEVDIEGVI, STEMNO then in that code language 15 written as:
Options:

1. ¥ LMVGH

2. ¥ HGVML

3. % LMHGV

4. % HVLGM

Question id : 4074 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

T e @e W § TYPEWRITER & GBKVDIRGVI forar a1 8, 77 39 e 9T # STENO forar saT &
Options:

1. ® LMVGH

2. ¥ HGVNL

3. ® LMHGV

4. ¥ HVLGM

Question id : 4075 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Ifin a certain code language MOIDA is written as STIIF, MEEEUT then i that code language is written as:
Options:

1. ® QUVYX

2. ¥ RIIWZV

3. ¥ RIJWEZY

4 % RIVYX

Question id : 4075 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Ue e e | # NOIDA @1 STNIF Torear 9T 8, 1 36 ge wr # MEERUT & gy ST &
Options:

1. ® QUVYX

2. % RITWZV

3. ¥ RITWEZY

4, ® RIIVYX

Question id : 4076 Question Type: COMPREHENSION (Correct + 0.0)

Passage: The given question 15 followed by two statements mumbered [ and [I. The question may or may not be answered with the
help of these statements. You have to decide if these statements are sufficient to answer the question.

Sub questions
Sub-question id - 4077 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

On what date 15 Anju's birthday?

Statements:

. NMinu says that Anju's birthday falls before 28th Warch, 1974,
II. Sonu says that Anju's birthday falls after 28th Narch, 1974

Options:

1. ® Only one of the statements, alone, 15 sufficient to answer the question but other statement is not.



2. % Both statements [ and 11 together are sufficient to answer the question asked but neither statement alone is sufficient.

-

3. % Fach statement alone is sufficient to answer the question.

4. ¥ Statements I and II together are not sufficient to answer the question asleed and additional data to the problem are needed.
Sub-question id - 4078 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

On what date 15 Sonu's birthday?

Htatements:

. Ram says that Sonu's birthday falls before 27th March, 1974
II. Shyam says that Sonu's birthday falls after 25th March, 1974

Options:

1. ® COnly one of the statements, alone, 13 sufficient to answer the question but other statement is not.

2. % Both statements [ and 11 together are sufficient to answer the question asked but neither statement alone is sufficient.

3. ® Each statement alone is sufficient to answer the question.

4. % Statements I and II together are not sufficient to answer the question asked and additional data to the problem are needed.
Sub-question id - 4079 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

What was the final score in the game between Team X and Team Y7

Statements:

[ Team X scored 14 more points during the second half of the game than it scored during the first half
II. At the end of the first half of the game, the score was tied, but Team Y won the game by 4 points.

Options:
1. ® Only one of the statements, alone, is sufficient to answer the question but other statement is not.

2. % Both statements [ and 11 together are sufficient to answer the question asleed but neither statement alone is sufficient.

-

3. ® Each statement alone is sufficient to answer the question.

4. ¥ Statements I and II together are not sufficient to answer the question asled and additional data to the problem are needed.

Question id : 4076 Question Type: COMPREHENSION (Correct + 0.0)

3o T Weg T 1T & T 39 o 2F e § Foive [ oflT 11 & &0 0 arfehe e mam 81 36 U &7 Jo0 3 1 & Tgrar &
ToraqT T e T & AT AR AT AT HEAT 81 AU TE 0T AT § 16 2 W 0eT W IAC o o 1ol i g AT el

Sub questions
Sub-question id - 4077 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

3] T AHIG Tehel T Dl g 7

GRuE

1. B gt & ToF 31 T AT 28 Tl 1074 & Ugel 3777 21
I1. |- edl & TeF 30 0T S-ASH 28 AR 1074 o o15 3T 21
Options:

1. ¥ el U T, ST, W5 B I o o T OH 3 AT S der g
2. % g 1 ofT 11 ST UW-HT U T 0 W 6 S & 600 UIE B A aiel H E WIE W U @ Ui e f)
. ® e B ST 0 T 3 a4 o iy raig 8

4. & T 1 T 11 ST US-|1 O T W T I 34 9 T U el S area & o st artes & se 2
Sub-question id - 4078 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

I T A-HIeT (e T Pl g 7

T

1. T TEdT Toh |i- 07 S=a1ad 27 AR 1074  Ugel ATdT 21

11 SR ThgaT & Ten |l &7 S-HigA 25 Wi 1074 @ &g 31T 2]

Options:

1. % Urerel T T, ST, WY T I S o Tog Ui & SR ST s g

2. % T 1 o 11 ST UE-9T U T 0 T 6 3 & 600 UIE B AR g1 H & W1E T U @ Uiy e f)
3. % oI T ST W W 6 S & o0 A E

4. % e [ ST 11 ST Qe-E1T UF T W5 9T I o O To e AR § o ahear ¥ Py s fen aifee 97 e 8
Sub-question id - 4079 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

[N ]




TR X AT Y O o W | STTA T T 9

T

1 1A 30 = gatel # ure ot T arent O AT o Serel # 14 arferer st o B

11 qarfel o e @ \ATTH @ T0, ThI aia? AT,wlhd ¢/H ¥ = 4 27 & @ =i foiam

Options:

1. ¥ el U T, SHAT, W @ I 34 o o0 gy B AT s der g

2% gure 1 Y 1 ST - ST U T U & S o O T Ui § e ST H E 1E Y U s waie ARt 2

3. % Yo eI SEET Weg W JE 3 o o0 R A

4. % T 1 ST 11 ST Oer-ETeT Ug T e 9T I o o Tol T AR B ST SHeT o Ry s T st @ e g

Question id : 4080 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Lalita said to Tina, "You are the daughter-in-law of the grandmother of my father's only son". How is Tina related to Lalita?
Options:

4 % Mother-in-law

Question id : 4080 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

ATGAT =TT 1 HET, "TH A 0T & Zehaitd e 1 SIal &1 Qere] 51" 1T SiedT o e Heferd g 7
Options:

1. % g

1% me

3.9 0t

4 % g

Question id : 4081 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Pointing to a photograph, Amar said, "I have no brother or sister but that man's father 15 my father's son". Whose photograph was
it?

Options:

1. ¥ His son's

2 % His father's

3. % His nephew's

4. %® His own

Question id : 4081 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

w?ﬂqrfﬁaﬁrgmmﬁgqmﬁm, "IN SIS WIS AT d5 Al &, o1 39 T2HT @7 T0aT §E T0dT &7 <21 8, o5 Tereer

Options:

1. g e A
2. % ey T &
3. % e W A
4 % FEdt e

Question id : 4082 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Abimad said to Saira, "Your only brother's son is my wife's brother'. How is Saira related to the Alimad's wife?
Options:

1. # Mother-in-law



7 % Sicter-in-law

®

)

Sister

L

4 ¥ pnt

Question id : 4082 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

AZAT o TRT H DT, "TFeT AT WIS T 2] Bl Tl BT H1E &'l R EHS 61 Gal € el Taled a7
Options:

1. ® g

2. % qnft
3% g
4. & g

Question id : 4083 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Find the next tenm in the series:

20,20, 19, 14, 17, 13, 14, 11,2, 7

Options:

1. ¥ 10,10

2% 10, 11

3% 13,14

4. % 13,16

Question id : 4083 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
ST H SR U 5

20, 20, 19, 18, 17, 15, 14, 11,7, 7

Options:

1. ¥ 10,10

2% 10, 11

3% 13, 14

4. % 13,16

Question id : 4084 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Find the next term in the series:

6,8, 10,12, 14, 20, 15,7, 25

Options:

1. % 30

7. %
3.9 2
4 %

35

Lo}

18

Question id : 4084 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
ST H SR U 3

6,8,10,12, 14, 20, 15,7, 25

Options:

1. % 30

7 ®

35

[}

3.9 2
4 %

18



Question id : 4085 Question Type: COMPREHENSION (Correct + 0.0)

Passage: In the question, symbols @, $, # * and % are used with different meanings as
follows:

'A #B' means 'A 15 equal to B'.

'A @ B' means 'A is greater than B

'A% B'means 'Ais either greater than or equal to B

'A% B means 'Ais either smaller than or equal to B

'"A + B'means 'A 15 smaller than B'.

MNow assuning in each of the following questions the given statements to be true, find which of the given conclusions given below
them isfare definitely true and give your answer accordingly.

Sub questions

Sub-question id - 4086 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Staterments:

L.T*U

Usw

HLV @ L
I W+

Corclusiors:
LW@ET
I LE#W

Options:
1. * Only conclusion I follows.
2. % Only conclusion II follows.

-

3. % FEither conclusion [ or conclusion 11 follow.
4. % Neither conclusion [ nor conclusion 11 follows.
Sub-question id - 4087 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

atatements:
LPEQ

I N#IMM
IM@ER
IV.E*P

Conclusions:

LP+H

ILQFM

Options:

1. % Only conclusion I follows.

2. % Only conclusion 11 follows.

3. * Fither conclusion [ or conclusion 11 follow.

4 % Neither conclusion I nor conclusion 11 follows.

Question id : 4085 Question Type: COMPREHENSION (Correct + 0.0)

s FEeT wat |, wdim @ § , #, * 3% Y% T W2 T S1em- 31T art o o T mam &
'A# B wT AT BA B W ERTET B

"AF) B T ARf A B HASTR

'A*BaTeRfEA B HASTATE & aRTaw ¢

'ASB U ST A B TR AT G 7

AR T AR B TRCA B H TR

e, T T et H # Uede WAl i HE T A g0, AE UaT e o el 8 Y et & 6 @i AT e e #1600 | S0
TEJENR 30 3T o)

Sub questions

Sub-question id - 4086 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



CuEK

L. T*U

ILUgw

InmLv@lL

V. W+ v

T

LV@T

ILL#W

Options:

1. % e Toad | TETE
2. % e e 11 T5T 8
% Ry [ a7 e 11 & & 18 0o @R 2

4, ¥ 377 T 1 97 e 11 981 &
Sub-question id - 4087 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
CRiE

LP$Q

I N#M

I M@ R

IV. R*F

TR

LEP+HM

Q%M

Options:

1. ¥ e e [ 9T 8

2. % e Tt 11 951

% Tean [ a7 e 11 & & @78 Uw a5l

4. ® T e 1 97 e 11 951 2

o

(W]

-

(RN ]

Question id : 4088 Question Type: COMPREHENSION (Correct + 0.0)

In the following question, a square transparent sheet with a pattern is given. Choose the answer which shows how the pattern
would appear when the transparent sheet 15 folded along the dotted line as shown by the arrow.

Sub questions
Sub-question id - 4089 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Transpargnt Sheet:

Response Sheet:

-

fI5T]
@)

- o

p— -

5] (T3] (1751
(2)

(1) Z (3)-

Transparent Shest:

Options:
1. %



)

® 1
%3
4. ¥ 4
Sub-question id - 4090 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Transparent Sheet:

.

(]

Transparent Sheet:
Options:

1L ¥

2. %2

"

= =
J. a

4 %4

Question id : 4088 Question Type: COMPREHENSION (Correct + 0.0)

e FRimET v |, U e fe o 91 U Uad i 132 mar 81 39 39 &1 g+ &1 98 gaiar & ToF e fte o1 d1T
BT T 7 TegIaTe v & |1 /i 0t dg dnT faem?

Sub questions

Sub-question id - 4089 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)



T e

TR St

------------------------------------------

FT R L - - - - - .

(1) (2) (3)- (4)

LI . .. L I W I O C
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Options:
1. ¥
2. %2

3% 3

4. % 4

Question id : 4091 Question Type: COMPREHENSION (Correct + 0.0)

Passage: 10 students enter into the class after A and 15 students enter into the class before B. 5 students enter into the class in
between A and B

Sub questions

Sub-question id - 4092 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
How many students are there in the class?

Options:

1% 32
2% 14

3%

4. % Cannot be determined

Sub-question id - 4093 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

In the abowve problem, if A enters into the class before B, then how many students are there in the class?
Options:

1. ¥ 20

~

- w
3. % 25
4. %
Question id : 4091 Question Type: COMPREHENSION (Correct + 0.0)

3o 10 9T W § A & &g Wel sl St & T 15 ST B & a7 W § Ul T 71 5 97 A 3T B o offer Ham | Weral &t &1

Sub questions

Sub-question id - 4092 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
TETH Teha- 819 &7

Options:

1% 32
1 ® 5
3% 20

4 % FT g B gear

Sub-question id - 4093 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
i A, B o Ugcl W4T H UGS TaT 5, 77 W H fha- g g 7

Options:

1. ¥ 10

-

-
3.

®
#* nc
4. %
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Question id : 4094 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
TEEET # H Meg BT g €0 G- a7 57
Options:

1. ¥ Teperdcaiems
2. % T

3. ¢ T eafons
4. % Tehed Ot

Question id : 4094 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
TRimET # | feg BT g ©7 G- €757

Options:

1. *® T enfang
2. % e

3. ¢ Ted et
4 % Rradenians

Question id : 4095 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Options:

1. ¥ Faoft

2% i

%Ay

4 % 3

(RN ]

Question id : 4095 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Options:

1 ¥ Feoft

2% i

3% T

4 % 3

Question id : 4096 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Options:

1. % amr

1 gt

3% i

4. % arof

Question id : 4096 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Options:



Question id : 4097 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Fter Tor et | Terd g e Wi T e?

Options:

1. ® I T AT @ra

2. ® gg B 38T

3. % U@ Mo e

4, ¥ Fo gl o = T

Question id : 4097 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
et Tore aerat o & el g T i €7 27

Options:

1. ® I P AT @rai

2. ® TE R 38T

3. ® g minR e

4. ¢ 394 gt &t vew Te=m

Question id : 4098 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Options:
®
1. aEaed
2 % Ho
3. ¥ g
4 % gomr

Question id : 4098 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Options:
"
1. % FEdgd
2. % ma
3. ¢ gt
4. % gumr

Question id : 4099 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
“ AT SR T & ATereh aCHTT” - TR T I Jeg b T 87
Options:

1. ¥ areamay

7 ® AT TE

. ® g

. arfagfe

(]

I

Question id : 4099 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
“Te ST € ATerd aCara” - ATerTs BT SUGH deq, i A1 57



Options:

1. % s
2% aeuge
3. ® e
4. ¥ afEqE

Question id : 4100 Question Type: COMPREHENSION (Correct + 0.0)
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Sub questions
Sub-question id - 4101 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)

Options:

1. % @

2% ymEfed

3. ¥ TEasr

4 * e

Sub-question id - 4102 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Options:

1. % 73w

2% RerEEd

3. % gErEmr

4. & HIEET

Sub-question id - 4103 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Tereer THT ® I9F T Taer meene @ vt e 87

Options:

1. ¥ e T

2. % §yTer fem

3. % e e

4. % 9qITET TR

Sub-question id - 4104 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
WITaTH 0 &1 a1g v g6t 759 g o wewrs femar am

Options:

1. ¥ fsamsr

2% Sy

[N ]
#

Question id : 4100 Question Type: COMPREHENSION (Correct + 0.0)
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Sub questions
Sub-question id - 4101 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Options:
1. * [
2 ® aEted
3. ¥ EaET
4 F FmEiaT
Sub-question id - 4102 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Options:
1. % zg¢
2. % e
® e
4. ¥ gree
Sub-question id - 4103 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
Tereer THT & 21g To Ty wen= o v e e 87
Options:
. ¥ e A
2. % e fem

3. ® e TEe

L

4. ® apmane gy
Sub-question id - 4104 Question Type: MCQ (Correct + 1.0, Wrong - 0.25)
T U &1 X Tora- st Tom g g v T &

Options:
1. ¥ o=t
2. ® 3y
3% g

4 % K]



